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Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622867
Question Shuffling Allowed : Yes

Question Id : 5362281695 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five different
streams namely IT, Management. Commerce. Science and Arts in a college during the
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled 1n
the college. Based on the data in the table, answer the questions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentage (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

Sub questions

Question Number : 1 Question Id : 5362281696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the total number of boys enrolled in Management stream and IT stream together?

(1) 1050 (2) 810
(3) 1120 (4) 980
Options :

5362286601. 1
5362286602. 2




5362286603. 3
5362286604. 4

Question Number : 2 Question Id : 5362281697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled in
science?

(1) 14: 23 {Z} 233
(3) 114 :121 (4) 5H3:65
Options :

5362286605. 1
5362286606. 2
5362286607. 3
5362286608. 4

Question Number : 3 Question Id : 5362281698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4) 480
Options :

5362286609. 1
5362286610. 2
5362286611. 3
5362286612. 4

Question Number : 4 Question Id : 5362281699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If 20% of the girls enrolled in Science change their stream to management. then what will be
the new number of students belonging to management stream altogether?

(1) 593 (2) 7133
(3) 453 (4) 1003
Options :

5362286613. 1
5362286614. 2
5362286615. 3
5362286616. 4

Question Number : 5 Question Id : 5362281700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled 1n Arts, Science and Commerce streams together forms what
percent (%) of total number of students in the college?

(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362286617. 1
5362286618. 2
5362286619. 3
5362286620. 4

Question Id : 5362281695 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362281696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e e qun A Fi faem | vh @y oisw i v G et 2 7

(1) 1050 (2) 810
(3) 1120 (4) 980

Options :

5362286601. 1
5362286602. 2
5362286603. 3
5362286604. 4

Question Number : 2 Question Id : 5362281697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 14:23 2 2:3
(3) 114:121 (4) 53:65

Options :

5362286605. 1
5362286606. 2
5362286607. 3
5362286608. 4

Question Number : 3 Question Id : 5362281698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A UE AT A 6 T WY gihae B9 A AstR 1 Fe 9 e 2 7

(1) 450 (2) 495
(3) 245 (4) 480

Options :

5362286609. 1
5362286610. 2
5362286611. 3
5362286612. 4

Question Number : 4 Question Id : 5362281699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Atz fasma A o aifigen =4 T 20 Sfae osiEat s faug = 9aeq 8 92ad & 9 859 e Teue
for & weta faenie =i 31 7% g = 2eii ?

(1) 593 (2) 733
(3) 453 (4) 1003
Options :



5362286613. 1
5362286614. 2
5362286615. 3
5362286616. 4

Question Number : 5 Question Id : 5362281700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362286617. 1
5362286618. 2
5362286619. 3
5362286620. 4

Sub-Section Number : 2
Sub-Section Id : 53622868
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of teaching uses higher level of cognitive abilities as specified in Bloom's
taxonomy?

(1) Memory level (2) Understanding level
(3) Reflective level {(4) Autonomous development level
Options :

5362286621. 1
5362286622. 2
5362286623. 3



5362286624. 4

Question Number : 6 Question Id : 5362281701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286621. 1
5362286622. 2
5362286623. 3
5362286624. 4

Question Number : 7 Question Id : 5362281702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching strategy best suited to deal with students who 1n terms of performance
readiness level are in the category of ‘able but unwilling’, will be,

(1) Assigning challenging tasks and delegation of roles

(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision
(4) Keeping the tasks specific and soft

Options :

5362286625. 1
5362286626. 2
5362286627. 3
5362286628. 4

Question Number : 7 Question Id : 5362281702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :
5362286625. 1
5362286626. 2

5362286627. 3
5362286628. 4

Question Number : 8 Question Id : 5362281703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be the behavioural competencies 1n an effective teaching-
behawviour repertoire?

(A) Self efficacy and locus of control
(B) Planming and teaching

(C) Managing and monitoring

(D)  Evaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A), (D) and (E) only (4) (C), (D)and (E) only
Options :

5362286629. 1



5362286630. 2
5362286631. 3
5362286632. 4

Question Number : 8 Question Id : 5362281703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286629. 1
5362286630. 2
5362286631. 3
5362286632. 4

Question Number : 9 Question Id : 5362281704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of students’
score 1s positively skewed. Hence, the mean of scores will be greater than

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the three

measures of central tendency colncide.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362286633. 1
5362286634. 2
5362286635. 3
5362286636. 4

Question Number : 9 Question Id : 5362281704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286633. 1
5362286634. 2

5362286635. 3
5362286636. 4

Question Number : 10 Question Id : 5362281705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planned.
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all levels
of education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362286637. 1
5362286638. 2

5362286639. 3
5362286640. 4

Question Number : 10 Question Id : 5362281705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286637. 1
5362286638. 2
5362286639. 3
5362286640. 4

Question Number : 11 Question Id : 5362281706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research focuses on enhancing the corpus of knowledge 1n a given
field?

(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
Options :

5362286641. 1
5362286642. 2



5362286643. 3
5362286644. 4

Question Number : 11 Question Id : 5362281706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Feafefiad 3 @ =i @1 sgEae FRE 20 e e 8 99 % w6 g gt w2

(1)  Trres sgEam (2) =TIEd SN
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Options :

5362286641. 1
5362286642. 2
5362286643. 3
5362286644. 4

Question Number : 12 Question Id : 5362281707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research method emplovs internal and external eriticism for sifting as
evidences and data?

(1) Ex post facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
Options :

5362286645. 1
5362286646. 2
5362286647. 3
5362286648. 4

Question Number : 12 Question Id : 5362281707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286645. 1
5362286646. 2
5362286647. 3
5362286648. 4

Question Number : 13 Question Id : 5362281708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control. observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362286649. 1
5362286650. 2
5362286651. 3



5362286652. 4

Question Number : 13 Question Id : 5362281708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =&« (A), (C) = (D) 2) Fa (A). (B) 77 (C)

(3)  F=e (B). (C) 31 (D) (4) A (C). (D) 3R (E)
Options :

5362286649. 1
5362286650. 2
5362286651. 3
5362286652. 4

Question Number : 14 Question Id : 5362281709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1=

the focus of study.

Statement II : A sample 1s a sub-aggregate drawn from a defined aggregate to represent it.

In the hght of the above statements, choose the most appropriate answer from the options

o1ven below :

(1) Both Statement I and Statement II are correct

() Both Statement I and Statement II are incorrect

(3 Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement I is correct
Options :

5362286653. 1
5362286654. 2
5362286655. 3
5362286656. 4

Question Number : 14 Question Id : 5362281709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286653. 1
5362286654. 2
5362286655. 3
5362286656. 4

Question Number : 15 Question Id : 5362281710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the research
findings and thelr use 1n authentic situations.

Reasons (R) : Application of ICT in research vouches for ecredibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1= false but (R) 1s true
Options :
5362286657. 1
5362286658. 2

5362286659. 3
5362286660. 4

Question Number : 15 Question Id : 5362281710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286657. 1

5362286658. 2

5362286659. 3
5362286660. 4

Question Number : 16 Question Id : 5362281711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Immediacy of cues In communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Physzical fitness (4) Social expectations
Options :

5362286661. 1
5362286662. 2



5362286663. 3
5362286664. 4

Question Number : 16 Question Id : 5362281711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286661. 1
5362286662. 2
5362286663. 3
5362286664. 4

Question Number : 17 Question Id : 5362281712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B) Training individual students in commumnication skills

(C) Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C)only (2) (C). (D). (E) only
(3)  (B).(C). (D) only (4) (B). (D). (E) only
Options :

5362286665. 1
5362286666. 2
5362286667. 3
5362286668. 4

Question Number : 17 Question Id : 5362281712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) Fa= (A). (B) 31 (C) (2) a4 (C), (D) 317 (E)
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Options :

5362286665. 1
5362286666. 2
5362286667. 3
5362286668. 4

Question Number : 18 Question Id : 5362281713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Verbal Commumnication takes place 1n real time.

Reason (R) : Written communication 1s synchronous in character as it appears at

different intervals.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

5362286669. 1
5362286670. 2
5362286671. 3
5362286672. 4

Question Number : 18 Question Id : 5362281713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286669. 1
5362286670. 2
5362286671. 3
5362286672. 4

Question Number : 19 Question Id : 5362281714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) MNews book

(C) News sheets

(D) Tabloids

(E) Broad sheets

Choose the correct answer from the options given below :

(1) (O (B). (A), (D). (E) (2) (D), (E). (C). (B). (A)
(3) (A). (B). (C), (E). (D) (4) (B). (C), (D). (E). (A)
Options :

5362286673. 1
5362286674. 2
5362286675. 3
5362286676. 4

Question Number : 19 Question Id : 5362281714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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H=t f2u v faepedt | | wE I g
(1) (C). (B). (A4). (D). (E) (2) (D), (E), (C). (B). (A)
(3) (A). (B). (C). (E). (D) (4) (B). (C), (D). (E). (A)

Options :

5362286673. 1
5362286674. 2
5362286675. 3
5362286676. 4

Question Number : 20 Question Id : 5362281715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I List IT
(Systems of communication) {(Focussed elements)
(A) Western (I) Non-competitive and co-operative
(B) Indian (IT) Co-existence of binary oppositions
(C) Buddhist (ITII) Emotional variants
(D) Chinese (IV) Rhetorical devices

Choose the correct answer from the options given below :

@1 (A-D. (B)-ID). (C)-(IV), (D)-(II)
(2) (A)-AV), B)-IID). (C)-(D). (D)-T)
(3)  (A)-ID. (B)-IV). (C)-(III). (D)-(D

4  (A)-OV). (B)-(I). (C)-(I1I), (D)-(II)
Options :
5362286677. 1
5362286678. 2
5362286679. 3
5362286680. 4

Question Number : 20 Question Id : 5362281715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o111 =11 J gafea Fifae

T=-1 T=-11
(=R AT o) (¥fza srpm)
(A) T (@) H-faeraims 1a Fear
(B) WwAE (D) T3 smarl gfdFear 1 Fraafta
(C) g (II) T =992
D) = AV) eI T

1 (A1), (B)-II), (C)-IV), (D)-(I)
)  (AIV). (B)-IID). (C)-(T). (D)-1I)
(3)  (A)-aD. (B)-IV). (C)-III), (D)D)

4)  (A)-IV). (B)-1), (C)-(IIT), (D)-(II)
Options :
5362286677. 1
5362286678. 2
5362286679. 3
5362286680. 4

Question Number : 21 Question Id : 5362281716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Three persons are walking around a ground. They take 20. 30 and 40 minutes to complete
one round. If they start from a single point together, they will meet again at that point after.

(1) 1 hour (2) I%hour
1
(3) 2 hour (4) 2§ hour
Options :

5362286681. 1
5362286682. 2
5362286683. 3
5362286684. 4

Question Number : 21 Question Id : 5362281716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o =T U HSH o = S O 7 | 9 39 HEF W U =9 o § e 20, 30 #E 40 992 @ e
=d 7 | =g = gt fRli o i T ° 2Ee Ry Hd 7 a1 FRed THT 6 A 3% T W e el ¢

1

(1) 192-31 (2) 15 eI
3 2@-wm @ %ﬁ%—m

Options :

5362286681. 1
5362286682. 2
5362286683. 3
5362286684. 4

Question Number : 22 Question Id : 5362281717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In a class of 65 students. 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 speak
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English and

Bangla. If 12 speak only Hindi then how many speak all the three languages.

(1) 3] (2) 4
3 3 4 2
Options :

5362286685. 1
5362286686. 2
5362286687. 3
5362286688. 4

Question Number : 22 Question Id : 5362281717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

65 ferenfat anel v wen | 27 Fendl B @ied 2, 21 Bl oush aew § 3R 17 fHendt aven sed

21 7 Tl === U A0 a1 9ed 2, 6 Tl @A 5 A =men 9red 7 oawn 5 faEmefl wee

U 3 T A 7 | Fie 12 et Fam 55 sieq 2 91 e faardt o =1 ameme sew 2

I 5 2 4
3 3 4 2
Options :

5362286685. 1
5362286686. 2
5362286687. 3
5362286688. 4

Question Number : 23 Question Id : 5362281718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s

(1) 327 (2) 429

(3) o037 (4) 641



Options :

5362286689. 1
5362286690. 2
5362286691. 3
5362286692. 4

Question Number : 23 Question Id : 5362281718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IR FiHF gor feram Gt w0 3 2160 7 | 39H & T 91 JEr B -Hf 26 e

(1) 327 (2) 429
(3) 037 (4) 641
Options :

5362286689. 1
5362286690. 2
5362286691. 3
5362286692. 4

Question Number : 24 Question Id : 5362281719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A two digit number 1s 4 times the sum of its two digits. The number that i1s formed by
reversing its digits 1s 27 more than the original number. What 1s the number?

(1 27 (2) 36
(3) 42 (4) b4
Options :

5362286693. 1
5362286694. 2
5362286695. 3
5362286696. 4

Question Number : 24 Question Id : 5362281719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF I FAFETAT TEAT A AT STH AT H 470 R | THE AH 1 FH Seed I 591 T g HEA °
27 A= 7 | g1 HEA =4 |

(1) 27 (2) 36
(3) 42 (4) 54
Options :

5362286693. 1
5362286694. 2
5362286695. 3
5362286696. 4

Question Number : 25 Question Id : 5362281720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of the squares of three numbers 1s 83, while sum of their products taken two at a
time 1s 71. Their sum will be

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362286697. 1
5362286698. 2
5362286699. 3
5362286700. 4

Question Number : 25 Question Id : 5362281720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A HEE % 9 A 83 2 | T W ToA® Bl HEAE R A A0 717 | 39 e w6

(1) 15 (2) 49
(3) 142 4) 225
Options :

5362286697. 1
5362286698. 2
5362286699. 3
5362286700. 4

Question Number : 26 Question Id : 5362281721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Pramanas 1s accepted 1n Vaisheshika philosophy?

(A) Pratvaksha
(B) Anuméan

(C) Upaméana
(D) S'abda

(E)  Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A)and (D) only
Options :

5362286701. 1
5362286702. 2
5362286703. 3



5362286704. 4

Question Number : 26 Question Id : 5362281721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MAfIiEd ¥ 9 FH-H TH10 d9i9H 294 ° =R 760 Jh 2 7

(A) w3E
(B)  EA
(C) EREIE]
(D) =
(E) =39

H= 2 T fawel § © wF s 9

(1) === (A) #T (B) (2) =a= (B) #0 (C)
(3) @& (C) = (D) (4) A (A) 31 (D)
Options :

5362286701. 1
5362286702. 2
5362286703. 3
5362286704. 4

Question Number : 27 Question Id : 5362281722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I Last IT
(Concept/Doctrine) (School)
(A) Pratityasamudpada (I} Vedant
(B) Abha&ava (IT) Sankhya
(C) Samyavastha (III) Nyayva
(D) Adhyasa (IV) Buddhism

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-(I1D). (C)-(IV). (D)-(II)
(2) (A)-(II). (B)-IV). (C)-(IID), (D)-T)
(3) (A)-(IV), (B)-(I1I). (C)-(IL). (D)-(I)
(4 (A)-(IV), (B)-(I). (C)-(IL), (D)-(ILL)

Options :

5362286705. 1

5362286706. 2

5362286707. 3
5362286708. 4

Question Number : 27 Question Id : 5362281722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T=i-1 =1 -1 5 gafed it

-1 T=i-11

(e /fag) (T
(A) TETTEETS @ &E
(B) ¥¥E A0 ==
(C) w=IEE III) =
(D) =EAH Iav) =g

fFefeta faeat 4 3 78 3 96
(1) (A)-(D). (B)-(IID). (C)-(IV). (D)-(II)
(2) (A)-(IT), (B)-(IV), (C)-(III). (D)-(I)
(3) (A)-(IV), (B)~(I1I), (C)-(ID), (D)-(I)
(4 (A)-(IV). (B)-(I). (C)-(II). (D)-(I1D)
Options :
5362286705. 1
5362286706. 2

5362286707. 3
5362286708. 4

Question Number : 28 Question Id : 5362281723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Vahdity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
Options :

5362286709. 1
5362286710. 2



5362286711. 3
5362286712. 4

Question Number : 28 Question Id : 5362281723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BRI CE A I e e Tl 1 e e M R e e e s e 2 e e | O e eI e e G e B M ez el e el
E 'xE.nl ?'l-?

(1) =TETE 1 dua (2) =AFEETE A
(3) == F U (4) =AHATE F AT
Options :

5362286709. 1
5362286710. 2
5362286711. 3
5362286712. 4

Question Number : 29 Question Id : 5362281724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT :

List I List IT
(Concept) (Philosopher)
(A) Phenomenon and Noumenon (I) Amrstotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (IITI) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(III). (C)-(IV), (D)-(IT)
2y (A)-ID. (B)-(I). (C)-(D. D)-(IV)
(3)  (A-IV). B)-(D). (C)-(ID). (D)-(11I)
4 (A)-aD. (B)-0V), (C)-(IIL), (D)-(I)

Options :

5362286713. 1
5362286714.2
5362286715. 3
5362286716. 4

Question Number : 29 Question Id : 5362281724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 1 g=-I1 & goferd il

-1 T=l-11
(T (i)
(A) =2 UF TEA I =g
(B) THIEAI UF AT Ea® BT @D T
(C) T4 T3 TR gadg AID) =+
(D) T T T AV) A
= fou T faemedt § ® @R ST g

(1) (A-D. (B)-(III), (C)-(IV), (D)-(1L)
2 (A-IID. (B)-II). (C)-I). (D)-(IV)
(3)  (A-IV). B)-(D. (C)-ID. (D)-(I1I)
4 (A-ID. B)-IV). (C)-1ID). (D)-(D)

Options :

5362286713. 1
5362286714.2
5362286715. 3
5362286716. 4

Question Number : 30 Question Id : 5362281725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true 1f 1t 1s true

(4) A proposition 1s neither true nor false

Options :
5362286717. 1



5362286718. 2
5362286719. 3
5362286720. 4

Question Number : 30 Question Id : 5362281725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afsd 757 =+ fEm & e

(1) Wi U =19 A SN T w7 0l |
(2)  wfasfea =1 91 9E 7 AYE Ted E |

(3)  widsited @I & Ale T2 W 7 |

(4)  wiasfa a1 92 2 3 9 F Ted |
Options :

5362286717. 1

5362286718. 2

5362286719. 3
5362286720. 4

Question Number : 31 Question Id : 5362281726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An unsolicited e-mail message sent to many reciplients at once 1s a

(1) Inbox (2) Spam
(3) Virus (4) Attack
Options :

5362286721. 1
5362286722.2
5362286723. 3
5362286724. 4



Question Number : 31 Question Id : 5362281726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HF ACAFATAT T TR WY CHH T I FESG S-He 960 B A

(1)  ==iFH (2) |
(3) == 4) =%
Options :

5362286721. 1
5362286722.2
5362286723. 3
5362286724. 4

Question Number : 32 Question Id : 5362281727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Operators are special symbols that are used to perform calculations, make
comparisons and check logical condition.

Statement II : Relational operators are used for arithmetic operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1= correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286725. 1



5362286726. 2
5362286727. 3
5362286728. 4

Question Number : 32 Question Id : 5362281727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo (I):  SATwer e s 2 2 T umi afeeed #, e S SR i feafeat i 5= e

= fore o 5man 2

STIF U % AT § ARG e 3 F HE I A
(1) o I3 2 w8 2 |

)  FyF I3 I 2E =4 2 |

(3) A ITca 2 Tohg oA 1174 2 |

(4 w139 2 g o I 9H 2 |

Options :

5362286725. 1
5362286726. 2
5362286727. 3
5362286728. 4

Question Number : 33 Question Id : 5362281728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : In peer-to-peer network, there 1s no central server instead each computer can
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286729. 1
5362286730. 2
5362286731. 3
5362286732. 4

Question Number : 33 Question Id : 5362281728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T—F#H (I:I : JZIIIF]'ITFNJ_E I{'l_ﬁ"'{{ ;‘_.- 'ﬂJ-{"\} Ao I[ "-TI'|‘:'-_: '-}Jr-,:ﬁl.l_i T :I—;ﬁ- H'Iﬂl T_'._l- ai'_”_h =+ T4 Hrh'_{-,h e_t,l.'l_.-_!,._lpq 'EIT
- = b o r B
T FAN UH FAEE % B H FE B EEAT E

Fo (ID) :  LAN =faa {599 2d S0 T80 g2 320 2l 7 |

IUF FYAT F AT ° ARG GEed § F 5E I =4
(1) = I3 I EH =781 7 |

) = I IS 7ed & |

(3) =y Iua & Tohd =90 17 = |

@ w13 2 g Foa 115 2 |

Options :

5362286729. 1
5362286730. 2
5362286731. 3
5362286732. 4

Question Number : 34 Question Id : 5362281729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources
(3) Increase the work (4) Monitor the software

Options :

5362286733. 1

5362286734.2

5362286735.3
5362286736. 4

Question Number : 34 Question Id : 5362281729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

2 FOAL T2 3 A1 3 F AT Fgd 1 fAfatad 9 @ 73 i § g9 a9 2

(1) == (2) TTET IR ETSAAE TETGAT & HE0 A o
(3 FHEEIHT (4) wiFzaE & e

Options :

5362286733. 1
5362286734.2
5362286735. 3
5362286736. 4

Question Number : 35 Question Id : 5362281730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation OCR 1s :

(1) Optical Character Recognition (2) Online Computer Reader
(3) Optical Computer Recognition (4) Optical Control Reader
Options :

5362286737. 1
5362286738. 2
5362286739. 3
5362286740. 4

Question Number : 35 Question Id : 5362281730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FEeR OCR =1 71 91 2

(1) Aol et R ) AT T G
(3)  onfewa wogz fwrtee @) onfesa F2e st

Options :



5362286737. 1
5362286738. 2
5362286739. 3
5362286740. 4

Question Number : 36 Question Id : 5362281731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Alliance
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China
Options :

5362286741. 1
5362286742. 2
5362286743. 3
5362286744. 4

Question Number : 36 Question Id : 5362281731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

-

FeATfEd B T 560 39 J 2230 HeR S9EE FHEE WEE WA/ AT EE T8 A 20

(1) seefemn (2) TS A
(3 S (4) A
Options :

5362286741. 1
5362286742. 2
5362286743. 3
5362286744. 4



Question Number : 37 Question Id : 5362281732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Energy production from blomass has traditionally been considered
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing blomass

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

5362286745. 1
5362286746. 2
5362286747. 3
5362286748. 4

Question Number : 37 Question Id : 5362281732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= 31 A R e | uw w0 ATeEwEA (A) #R gE B A (R) FE TR |

AMTFHE (A) ATAEE ° FoA1 Ie912A TR F9 H F1eA g2 5T A6 2 |
r : Pty ¢ r . r x ~ P
b (R) : HAEMEE & ged ° 3c9iEd FEA SEATFERES A EEACE eI | il S9YHET = TeTd
T Z |

I9GFA FUET o ATATR § FiEd e 0 ° wE I g

(1) (A) 3R (R) I F& # #HiT (R), (A) F T = 2
@) (A 3 R) I TE E wg R). (A) F TE = T 2
(3) (A TE 2 9 (R) T 7 |
4 (A ToW E T (R) TR

Options :

5362286745. 1

5362286746. 2

5362286747. 3
5362286748. 4

Question Number : 38 Question Id : 5362281733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wind power electricity generation which among the following type of rotors 1s most
commonly used?

(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor

Options :
5362286749. 1



5362286750. 2
5362286751. 3
5362286752. 4

Question Number : 38 Question Id : 5362281733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEH S 3918 B HEeTiEd # H FRE TR % guih (T2T) W 9 9 wartas 5= e s 2 v

(1)  wediecds T (2) WIUeR T2
(3) A U (4) Sfm e
Options :

5362286749. 1
5362286750. 2
5362286751. 3
5362286752. 4

Question Number : 39 Question Id : 5362281734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance or

continuous exposure of sub lethal dose.
Statement IT : Acute toxic effects are long lasting and irreversible mainly caused due to

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286753. 1
5362286754. 2
5362286755. 3
5362286756. 4

Question Number : 39 Question Id : 5362281734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i 27 e T Tu E

FoT (): T sAiaF = 9519 @ St S99E S 9 9 F Had S H 9w
e w9 F E=9 H Al #
TrYF § B o UfaEed 29 & a9 39 9t | S99 F 99 99 i 2 F9 B 2

SR H % A H A e § 8w T

(1) w2 =87 |

(2 =y ISR I AT 7o 2 |

(3 FF 1Tz g o 7oA 7 |

(4) =y [ 53 7 g A &1 7 |
Options :
5362286753. 1
5362286754. 2
5362286755. 3
5362286756. 4

Question Number : 40 Question Id : 5362281735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone laver

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A). (C) and (E) only (2) (A), (C), (D) and (E) only
(3)  (A). (B). (C) and (E) only (4) (A). (B). (D) and (E) only
Options :

5362286757. 1

5362286758. 2

5362286759. 3
5362286760. 4

Question Number : 40 Question Id : 5362281735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAfaiEd 3 3 FH-H I2va HEEed [ e 5 Jatad 7 ¢

(A) g =EA § guR

(B) HAEH WA § &0 F FEEd

(C)  =fer s § =4 =t & % Si=d 5 gun &

(D) TR A SEE g

(1) === (A). (C) 31T (E) (2) Fa4 (A), (C). (D) 7F (E)
(3) A= (A), (B). (C) 3 (E) (4) = (A). (B). (D) #1 (E)

Options :
5362286757. 1



5362286758. 2
5362286759. 3
5362286760. 4

Question Number : 41 Question Id : 5362281736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep
(B) Nalanda
(C)  Valabh
(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B), (C), (D) only

(3) (C). (D). (E) only (4) (D), (E). (A) only
Options :

5362286761. 1
5362286762. 2
5362286763. 3
5362286764. 4

Question Number : 41 Question Id : 5362281736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TR 9T § faER e fHvataenes Fefahaa § # B e w w97

(A) e

(B) AT

(C)  Toordl

D) g

(E) =i

i 23 ™ oot | @ TR 3 9t

(1)  Fa (A). (B), () (2) Fa= (B). (C). (D)
(3) === (C). (D). (E) (4) === (D). (E). (A)

Options :

5362286761. 1
5362286762. 2
5362286763. 3
5362286764. 4

Question Number : 42 Question Id : 5362281737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps followed 1n the process of value clarfication :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :

(1) (A (B). (C). (D). (E) (2) A). B). (D). (C), (E)
(3) (A, (C). (B). (D). (E) (4) (A). B). (E). (C). (D)
Options :

5362286765. 1
5362286766. 2
5362286767. 3
5362286768. 4

Question Number : 42 Question Id : 5362281737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e TSR] ST H SO AT = S S
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(E)  Termeft s79+it mafaerare == #7d 7 31 U oo 9d 7

= f2u U faem 8 © A I g
(1) (A). (B).(C). (D). (E) (2) @A), B). D). (C). (E)
(3) (A). (O). (B), (D). (E) (4) (A). (B). (E). (C). (D)

Options :

5362286765. 1
5362286766. 2
5362286767. 3
5362286768. 4

Question Number : 43 Question Id : 5362281738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER)
in Higher education for the yvear 2018-19. 1n India 1s

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

Options :
5362286769. 1
5362286770. 2



5362286771. 3
5362286772. 4

Question Number : 43 Question Id : 5362281738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foea = wera 4 = A1 9 fpu T sifige wwRa odew F AR, 9 9 99 2018-19 7F 3= W ° wwa
T S (S 3 AW) B -

(1) 24.6% (2) 25.6%
(3) 26.3% 4 27.8%
Options :

5362286769. 1
5362286770. 2
5362286771. 3
5362286772. 4

Question Number : 44 Question Id : 5362281739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UGC portal "e-SARTS’ 1s for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Traiming in Sciences
(3) Support for Academic and Research Training 1in Social Sciences

(4) Scholarship-Fellowship Award Registration Tracking System

Options :

5362286773. 1
5362286774.2
5362286775. 3
5362286776. 4



Question Number : 44 Question Id : 5362281739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 51 T 9 ‘e-STARTS' Ftainad 5 | o fom 27
(1)  fasm =i dtafeh @ sEaE + foo fam gema
() fawm ¥ ufwemr 3t sgEE % fou e |
(8) T T § dferw U3 wvg whew F fow mnee

Options :

5362286773. 1

5362286774. 2

5362286775. 3
5362286776. 4

Question Number : 45 Question Id : 5362281740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An 1nstitution in the flield of higher education desirous of getting the status of ‘Deemed to be
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities.
(D)  Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1) (A, B). (C) and (D) only (2)  (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (A). (C). (D) and (E) only



Options :

5362286777. 1
5362286778. 2
5362286779. 3
5362286780. 4

Question Number : 45 Question Id : 5362281740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o e 3 i 3 it Favaeer (4ies 7 ot i) w2 o A e v e e e
(A)  HE H FE A FE gE A WA A =i

(B)  F9F 4% (NAAC) #1 &1 3 ff v %8 & %9 3.26 =

(C) mmmﬂhmﬁmmqmﬁmwmﬁﬁlﬂﬂﬁﬂmmmm|
D) m?ﬂﬁfﬂ?ﬁ—hﬁjﬁmﬁﬂﬂ 1:20 =T == |

(E)  foreg=st (gm) =i e %9 @ %5 50 7 |

(1) &= (A). (B). (C) 3T (D) (2) Fa= (B), (C) #lT (D)
(3)  F=4 (B). (C). D) 31 (E) (4) F=4 (A). (C). D) = (E)
Options :

5362286777. 1

5362286778. 2

5362286779. 3

5362286780. 4

Sub-Section Number : 3
Sub-Section Id : 53622869
Question Shuffling Allowed : Yes



Question Id : 5362281741 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement, either
through external reward or internal satisfaction. In addition to its effect on the continuation
of a particular behaviour, extinction can also have an emotional impact. We could predict, for
example. with an excellent chance of being correct, that an employvee will become surely, will
complain more than before, or will have problems getting along with his co-workers.
Emotional behaviour usually accompanies extinction when reinforcement or punishment is
withheld. Parents often extinguish behaviours umintentionally when they pay attention only
when their children are behaving poorly. If parents pay little or no attention when the
children are behaving appropriately, they in a sense, put the behaviour on extinetion. A child
who wants attention — a reward — from the parents may be willing to endure what the
parents think is punishment to get it. So, in the long run. the parents might be reinforcing
inappropriate behaviour; vet it happens all the time. This phenomenon 1s also very common
in the world of work. For example, a manager’s work/group had responded well to a high
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this style
1s not achieving results, and followers are being disruptive and making unreasonable
demands. Positively reinforcing inappropriate behaviour generally results In more unwanted
behaviour.

Sub questions

Question Number : 46 Question Id : 5362281742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What do people need to continue working for internal satisfaction?

(1) Some threat

(2) Some emotional reaction

(3) Some pleasant experience after the behaviour occurs
(4) Threat mixed with something pleasant

Options :

5362286781. 1
5362286782. 2
5362286783. 3
5362286784. 4

Question Number : 47 Question Id : 5362281743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When a reinforcement 1s withheld from a worker, 1t may lead. inter alia, to

(1) expectation of getting something pleasant
(2) decrease 1n complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

Options :

5362286785. 1
5362286786. 2
5362286787. 3
5362286788. 4



Question Number : 48 Question Id : 5362281744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour

(3) positive reinforcement

(4) further occurrence of the original behaviour
Options :

5362286789. 1
5362286790. 2
5362286791. 3
5362286792. 4

Question Number : 49 Question Id : 5362281745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positively reinforcing inappropriate behaviour 1s an error because 1t results 1n

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour
(3) misbehaviour
(4) negative emotions
Options :

5362286793. 1
5362286794. 2
5362286795. 3
5362286796. 4

Question Number : 50 Question Id : 5362281746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The focus of the passage 1s on

(1) reward and punishment policies In an organisation

(2) high risk relationship between managers and workers

(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
Options :

5362286797. 1
5362286798. 2
5362286799. 3
5362286800. 4

Question Id : 5362281741 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362281742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286781. 1
5362286782.2
5362286783. 3
5362286784. 4

Question Number : 47 Question Id : 5362281743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TR AT H WeleT Tl Ta%g TRAT WAl B A1 SEehl GO 3 =il o SE-Ey Heiead 5 F°

g d =il 27

(1) % TEs TH i ATHE

(2)  forFmEa # a =9EEr 9 0
(3)  umPHAT I T

(4)  TEEHAF qEAAT W IEA

Options :
5362286785. 1



5362286786. 2
5362286787. 3
5362286788. 4

Question Number : 48 Question Id : 5362281744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T=l o 1o I “HaEN =l ey w9 4 | Fuan e SH i wiont B 2

(1) =39 =99sd & A9 |

(2) 999 HEER F [0 TERR F 7 FA

(3) AFRTHF Taed o

(4) W =EE % 9= | gfed w6 |
Options :
5362286789. 1
5362286790. 2
5362286791. 3
5362286792. 4

Question Number : 49 Question Id : 5362281745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TN B9 W Walleid 19999 981 UF ol 7 i sa=hl 90Td a2l # -

(1) 799 =J9=R 90 & 4
(2) T SRR DA |
(3) FEER H

(4)  TFEOCHF qEAA §

Options :

5362286793. 1
5362286794. 2
5362286795. 3



5362286796. 4

Question Number : 50 Question Id : 5362281746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=0 e w1 et 1 9 w2

(1) Tl T ° TR 3AE 23 HEdl A .
(2)  TEGF AN AfGEEE ® " wE FhEn 9 T8 W
(3)  wAfg=wE % i weudE g

(4) OFcHS TaeH & TRRIHF 90Ty

Options :

5362286797. 1
5362286798. 2
5362286799. 3
5362286800. 4

PART II Bengali
Section Id : 53622824
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622870
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

% (73 1S ol SRFS’ SRO1 (AF FAFL <& NIh (ST =4
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C. MY IJ (2

D. IFALA! AN TN, ®Y I (A2

1.CDAB
2.C B DA
3.0, A B C
4.B,C, A D

Options :

5362286801. 1
5362286802. 2
5362286803. 3
5362286804. 4

Question Number : 51 Question Id : 5362281747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286801. 1
5362286802. 2
5362286803. 3
5362286804. 4

Question Number : 52 Question Id : 5362281748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2 WIF ©f@ T, TIYTYE I'— (&0 T2 a5 =17 (T Siod wesfs:

1. qGM
2. AELAT
3. foraT-=fe
4. 9%

Options :

5362286805. 1
5362286806. 2
5362286807. 3
5362286808. 4

Question Number : 52 Question Id : 5362281748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2 W7 ©f @ =7, TIYAHE I'— (S o S1esd =17 (I Siog wesfs:

1. M
2. WAl
3. forar-=ffe
4.9

Options :
5362286805. 1



5362286806. 2
5362286807. 3
5362286808. 4

Question Number : 53 Question Id : 5362281749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286809. 1
5362286810. 2
5362286811. 3
5362286812. 4

Question Number : 53 Question Id : 5362281749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286809. 1
5362286810. 2
5362286811. 3
5362286812. 4

Question Number : 54 Question Id : 5362281750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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C. TREGE ST (IO 0% NeTd ALY SIS (DA |
D. FIF 1@ N YWIAGTS YN ISV Yerd Gl (2 o S 4|
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s e (- Kegitre St T8 &g, (G =

1.(PFFETA BAR D
2. (PFT A, CH D
3.(F9e1B, C J43 E
4. (P9e1B, D G492 E

Options :

5362286813. 1
5362286814. 2
5362286815. 3
5362286816. 4

Question Number : 54 Question Id : 5362281750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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C. TREGE ST (IO 0% NeTd ALY SIS (DA |
D. FIF 1@ N YWIAGTS YN ISV Yerd Gl (2 o S 4|
E. AP SIS ST6AT S M0d AR FBIE|

s e (- Kegitre St T8 &g, (6 =
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2. (PFT A, CH D
3.(F9e1B, C J43 E
4. (P9e1B, D G492 E

Options :

5362286813. 1
5362286814. 2
5362286815. 3
5362286816. 4

Question Number : 55 Question Id : 5362281751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1.A-iii,B-v,C-iv, D-i,E-ii
2.A-i0i,B-iv,C-v, D-i, E-iii
3A-i,B-ii,C-v, D-iil,E-iv
4. A-iv,B-iii,C-v, D-ii,E-i
Options :

5362286817. 1

5362286818. 2

5362286819. 3
5362286820. 4

Question Number : 55 Question Id : 5362281751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1.A-iii,B-v,C-iv, D-i,E-ii
2.A-i0i,B-iv,C-v, D-i, E-iii
3A-i,B-ii,C-v, D-iil,E-iv
4. A-iv,B-iii,C-v, D-ii,E-i
Options :

5362286817. 1

5362286818. 2

5362286819. 3
5362286820. 4

Question Number : 56 Question Id : 5362281752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286821. 1
5362286822. 2
5362286823. 3
5362286824. 4

Question Number : 56 Question Id : 5362281752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286821. 1
5362286822. 2
5362286823. 3
5362286824. 4

Question Number : 57 Question Id : 5362281753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286825. 1
5362286826. 2
5362286827. 3
5362286828. 4

Question Number : 57 Question Id : 5362281753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286825. 1
5362286826. 2
5362286827. 3
5362286828. 4

Question Number : 58 Question Id : 5362281754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286829. 1
5362286830. 2
5362286831.3
5362286832. 4

Question Number : 58 Question Id : 5362281754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 5362281755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286833. 1
5362286834. 2
5362286835. 3
5362286836. 4

Question Number : 59 Question Id : 5362281755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 5362281756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RRIP ATALEH (T PLIDI0 VB A (Y MG FIADIG WF-S&% TED

(H&EA =e1:

A FgS 6T GRATAE *F TAMHS T s Fa09 S|

B. WA FILIAT TOA FFS A A6 T8I T (NHFS Airod 25 8 Moa"
> 15 P PO WHa =0T T

C. TG I8 T (55032) DA FLIFI0 9o NHFe TS 923 Fafa=-|

D. BIH5® ATEIYGH (G N0, Te1d 3 ZLIaie [Nty S18s o ararg o=
T =00 A

E. 72 & o merwrarg o< o9 g garm Y 5|

HME NP (I-egBre 9o 1897 &7, (G =

1. (F9TB, C AR D
2.(P4€1C, DARE
3. (P41 B, CARRE
4 (PITA B AR C

Options :

5362286837. 1
5362286838. 2
5362286839. 3
5362286840. 4

Question Number : 60 Question Id : 5362281756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RRIP ATALEH (T PLIDI0 VB A (Y MG FIADIG WF-S&% TED

(H&EA =e1:

A FgS 6T GRATAE *F TAMHS T s Fa09 S|

B. WA FILIAT TOA FFS A A6 T8I T (NHFS Airod 25 8 Moa"
> 15 P PO WHa =0T T

C. TG I8 T (55032) DA FLIFI0 9o NHFe TS 923 Fafa=-|

D. BIH5® ATEIYGH (G N0, Te1d 3 ZLIaie [Nty S18s o ararg o=
T =00 A

E. 72 & o merwrarg o< o9 g garm Y 5|

oME NP (I-FgBre 9o 189 &7, (3G =

1. (F9TB, C AR D
2.(P4€1C, DARE
3. (P41 B, CARRE
4 (PITA B AR C

Options :

5362286837. 1
5362286838. 2
5362286839. 3
5362286840. 4

Question Number : 61 Question Id : 5362281757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A EOVIG OIS WdaTgi B IS5F (0T ST Sid (AN JHE
G AL FTHOT (T B ALIRCH TN BIIA O H L =4

1. o
2.4
3. 7o
4, G50l

Options :

5362286841. 1
5362286842. 2
5362286843. 3
5362286844. 4

Question Number : 61 Question Id : 5362281757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AR OGOy E WEAH BIE ISHF ([T ST B (AU FHEA
TEAF ALY JEO (T B ACCATT TN SIS 0T He 4 e

1. fon
2. 7%
3. 7@
4, S5l

Options :

5362286841. 1
5362286842. 2
5362286843. 3
5362286844. 4

Question Number : 62 Question Id : 5362281758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YUI-ATET GAIT (UL TR POAPIG NS LG (T =4

A T TASE (FATO AR P-(T 51 OIS BUG HTR| J-(T (TS ek 2071
ST Tad AGT0a Hellg |

B. (% Wit 918 FI MTAF g M= Syrg S Wiy FI6re! ¢ Ml =g a9
oM (F 0 (57!

C. TINTF YF 4N 28T BHS B | IS~ (FITAG BIFId Wold WA WAP 2R
AT AR (BT SR

D. (A5 STNIF ST A0 ATOUR (TEGPHE WINTE, 4 FU SEECNAT I WF HHErdl
O | T 1Y (UG fRT® #N1fF (73058 921 W1, 4% =1 9% Giood 5]
IEd ALFO (ATH GANIA 4% USIsferd 35 @b =

1.BC A D
2 B, B A C
3.A,D,B C
4.D,A B C

Options :

5362286845. 1
5362286846. 2
5362286847. 3
5362286848. 4

Question Number : 62 Question Id : 5362281758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IR SIS (AT TR PIAFI6 NG A6 (RSH =4

A T TASE (FATO AR P-(T 51 OIS BUG HTR| J-(T (TS ek 2071
ST T AGTCa HeIlg |

B. (% =T 3R B! M= ATF M @ i g SiGoa ¢ M oraE a3
o= (T 0 (5!

C. TINTF YF 4N 28T BHS B | IS~ (FITAG BIFId Wold WA WAP 2R
AT AR (BT SR

D. (A5 STNIF SIS A0 ATOIR (TERPE WINIE, 4 P SRV 061 ATH HHEAd]
O | T 1Y (UG TS #N1fF (75058 921 W1, 4% =1 9% Giood 5]
HI HALPO (Y GHANI A% TReed 9% F =

1.BC A D
2 B, B A C
3.A,D,B C
4.D,A B C

Options :

5362286845. 1
5362286846. 2
5362286847. 3
5362286848. 4

Question Number : 63 Question Id : 5362281759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CTEW ST AGE ((5TE 910Ed 96+ (I NITH 91608, (572 WY =4

1. WA=
2. (A9

3.9
4. FTABT

Options :



5362286849. 1
5362286850. 2
5362286851. 3
5362286852. 4

Question Number : 63 Question Id : 5362281759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CTEW STl A ((9ME" 910gd 96+ (I WA 91608, (72 WY =64

1. SA=F
2. (¥

3. WMH

4, Plepa=y
Options :
5362286849. 1
5362286850. 2

5362286851. 3
5362286852. 4

Question Number : 64 Question Id : 5362281760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SITE 20 (D143 2aF g AU ST BIEBG AP) 492 [Fory wifem

HACHT NI (ST =eT:
NIGEIR wifeae 2
A, STHE (F6 OS] GG (9F FE ABEs |1 B WEeol—
(ofd o 929 S| U GEERIEE]
B. AL-TNeTd (IR T HIF TJ WHEG, BT
= ' -I. oy

57 T =05 <1 &S qrae [eETg| R allEeTTE
C. OItE Wraal I2412 STUNALS 3 F1PE i STIE[STST 9Ty
o4 T iz guryf 3] Bfere o
D. FIREId ©IEd 0% G4 orNd (@I

ﬁ m_?ilﬁ 2 v sldEEH

A H(HFO (HF Beldd [APH0 26T,

1T.A-ii,B-iii,C-iv, D-i
2 A<, B=Hi.C=w B
3.A-i, B=p C=ji D-i
4. A-iv,B-iii, C-ii, D-i

Options :

5362286853. 1
5362286854. 2
5362286855. 3
5362286856. 4

Question Number : 64 Question Id : 5362281760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SITE 20 (D143 2aF g AU ST BIEBG AP) 492 [Fory wifem

HACHT NI (ST =eT:
NIGEIR wifeae 2
A, STHE (F6 OS] GG (9F FE ABEs |1 B WEeol—
(ofd o 929 S| U GEERIEE]
B. AL-TNeTd (I T HIF TF WG, BT
= ' -I. oy

57 T =05 <1 &S qrae [eETg| R allEeTTE
C. OItE Wraal I2412 STUNALS 3 F1PE i, STIE[STST 9Ty
o4 T iz guryf 3] Bfere o
D. FIRaId ©IEd 0% G orNd (@I

ﬁ m_?ilﬁ 2 v sAEES

A H(H0O (HF Beldd [APHI0 26T,

1T.A-ii,B-iii,C-iv, D-i
2 A<, B=Hi.C=n B
3.A-i, B=pC-ji, D-¥
4. A-iv,B-iii, C-ii, D-i

Options :

5362286853. 1
5362286854. 2
5362286855. 3
5362286856. 4

Question Number : 65 Question Id : 5362281761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WA GILGTGod WLATENT IG5 AARLTA— (AATSH Bida STHaend
'@f?tﬂ G E R

GIE (H5TTATOA BN PG :

1. SIGIPTE

2. Ffo=IPF

3. I=IFR

4, foaad
Options :
5362286857. 1
5362286858. 2

5362286859. 3
5362286860. 4

Question Number : 65 Question Id : 5362281761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HESod GUGod ALY JFGTIE IEAREAN— (HNFNNON blaa THaold
'Tf?ﬁl, WISEH

SIE (AHE5TATOA 2N PG :

1. NIGIFIE

2. Fioxm qﬂ?ﬁ

3. N2H4

4. foad
Options :
5362286857. 1
5362286858. 2

5362286859. 3
5362286860. 4

Question Number : 66 Question Id : 5362281762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

It vt (9@ (qawr ==

g1 1: MIfel AT INN WA (A1 (741 T A AFHFIOF (BUF 26|
49 2: ‘ofiF© ST AW BLeTY (N oG T2y 5% |
Tortad wit (3o «if@FtafEers Stk Asters 3% Geal® ==

1. Goy [43fez b
2. 4915 1 3 o 9909 2 wa
3. [491® 1 e (&g 9979 2 B
4. Ty 9o ga

Options :

5362286861. 1
5362286862. 2
5362286863. 3
5362286864. 4

Question Number : 66 Question Id : 5362281762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

<TG 76 [[991® (e =

(<G 1: #(1fe] ST IN WP (AT (M1 A A HsF0F (BUF 26|
(3 2: ' AP® UG AYT GraY (e AOGFT 2oy S|

T 76 QO “ARARFre Ned Ao 36 Gadlb =

1. Goy [93fez
2. 995 1 3 15 [93h% 2 wa
3. [<91® 1 e g 39 2 B
4. Ty [49fo2 ga

Options :
5362286861. 1
5362286862. 2




5362286863. 3
5362286864. 4

Question Number : 67 Question Id : 5362281763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

*ATRLAA 2L 1569 AGSAAMIY [FOS O FIIAIN°
3% 4% TEABE FrafEm:

1. FANHY FTFF
2. SAHET (7
3, WIS AU
4. TSI TS

Options :

5362286865. 1
5362286866. 2
5362286867. 3
5362286868. 4

Question Number : 67 Question Id : 5362281763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AR 2L 56 A @A o O Fan|-
P 9% T80z FEEE:

1. FATIY FTFT
2. Mg (4
3. ST LAY
4, HSTHAY g

Options :
5362286865. 1
5362286866. 2



5362286867. 3
5362286868. 4

Question Number : 68 Question Id : 5362281764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FLAMG T(F WSO SLAFIL VB A6 (RET =

A GGG 495 OFF S0 FINMGIS o~ AR ARSI B

B. T4 BLAMGF IS Fre AHE® Oithd WRSGNII 2 WIS (AP E BLAG gy
R 91 a2 SR

C. FUAMG FoFoTa FAEE 961 (T Sitag SR e staw

D. BING IBF WIS 201 BF (8 P, WF GROOd 544 38 $E GoNG
CoMCABP 0% TGS (3 @ [s 200, 20e A(BL9 (5712 PN ADS
=gt ==

1.0,A, B C
2.A,C,D,B
3.B,D,AC
4.B,C, DA

Options :

5362286869. 1
5362286870. 2
5362286871. 3
5362286872. 4

Question Number : 68 Question Id : 5362281764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FIAMG TS WIF 0T PLIFI6 VBT A6 (ST 2

A. GGG Qs (T2 STUH SNIGIS A1 2LHRA APa12I ©Id

B. T4 PLAMGF F6To! T2 AHGO OIHE ARSI I2 WIS (ATPE BIANG 7
2T o1 5= Safas

C. FUAMG FolTord STEE 961 ey oitag Sz Ao saw

D. PG BT VLI 2104 Bl< 318 PLd, WF GHOOF bi9g 13 Bd GGG
COMAGES 0% @S (7 @0 [RE (Y, A0e SS9 (12 S A5 F
EERIEEGE

1.D,A B, C
2.AC,D B
3.BD,AC
4B, C D A

Options :

5362286869. 1
5362286870. 2
5362286871. 3
5362286872. 4

Question Number : 69 Question Id : 5362281765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=1t 7ib [[991@ (e ==

9@ 1. Q1eeT AT (P (I FAAAS AFE TG &g |
S 2. qreeTy A gaesmi~as@ (3 Wi, 99 29 vama s )
T 16 (O ~ARARFS N Ao 55 Gadll =

1. bod (308 9

2. 931 1 3 g 999 2 e

3. f99f% 1 o foeg gfS 2 3
4. 5oy [I9MoR gl



Options :

5362286873. 1
5362286874. 2
5362286875. 3
5362286876. 4

Question Number : 69 Question Id : 5362281765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

It 7ib 9o (e ==

39S 1: I IFTT (FICAT (ST FIAAF SFIGF ST G|
9% 2; sy A waemfAas@ (e /iR, 99 25 TawRf~efe s |
T 1o RGO =ARTFFre Sea Ao 3 Gadlb =0

1. 5wy [Q9Mes B
2. [49fe 1 3 (g (9o 2 o

3. 999 1 o= 18[9 2 T3
4. Go¥ [YfoR oo

Options :

5362286873. 1
5362286874. 2
5362286875. 3
5362286876. 4

Question Number : 70 Question Id : 5362281766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



GRS T (3-SCH FEHEAT PRI T FIAR (A RRRS (00 20
WIS WCT (ST SO W10, ©TF HTammy =4

1, TSI

2, ARSI TR
3. AMGT WE=IST
4, TS

Options :

5362286877. 1
5362286878. 2
5362286879. 3
5362286880. 4

Question Number : 70 Question Id : 5362281766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GG (I-SEIH FHATT FRIAS L PMFD (M1 R[S Hied 209
WS I (ST 9610 WIE, OI Ramry =4

1, STRTSIE

2. SIRTSI STR
3, AMGF SRS
4, ST S

Options :

5362286877. 1
5362286878. 2
5362286879. 3
5362286880. 4

Question Number : 71 Question Id : 5362281767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(e PLIT BT 518 WIEAFA A6 A6 (KM (ST 24, T S5 NS & W6 O/F
HITATSE I

@AY NG (0T A= 57d oAl (A hg OeTrd AP (Free|

e (I02Q 29d (T WA (I W0R O (57 (G Saiea|

TR 7o YO ~ARARFS Nea Ao 35 e’ =0

1. N7 8 Y@ Oods 55
2. W@ 3% 7 P&t oo
3. TSI et 8 &t 3
4. UBd] & Yfes Gouz we

Options :

5362286881. 1
5362286882. 2
5362286883. 3
5362286884. 4

Question Number : 71 Question Id : 5362281767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[ ST 2 51 WLEAF WIS TG (€991 (M =, AT JHI6 WS & W6 Ord
AT I

TEAT: SIEF (T A= 20g S5 (QhF Dl [Py (Freraa|

Ifer: (=T 29T (T W (P =g T (7 (G (5afee|

TR Tib ([0 ~ARARFS e A0 55 Gadl =0k

1. W& 8 Y@ Gogs 5%
2. B 5 % L&t oo
3. WS wet (68 I 5
4. TBA] & Yo Gouz oed

Options :
5362286881. 1



5362286882. 2
5362286883. 3
5362286884. 4

Question Number : 72 Question Id : 5362281768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I BLAPIG A *1% (SN 2, AF T PLAPIG ALFONIO O *1% T ghost word-
£ THEET:

E. Nagw
AITHA H(PUO &Y HFOINHAO G *F 1 ghost word-Td BRIRIT WY (F PGS,
(5 ==

(PeT A B A9 E
(P91 B, D A9 E
(P A, CHUdR E
(P9I B, C 43 D

B R

Options :

5362286885. 1
5362286886. 2
5362286887. 3
5362286888. 4

Question Number : 72 Question Id : 5362281768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



6 FISIO A *F (ST =, TF T SIS0 T FOMTS G #37 [ ghost word-
A BHRAT:

A. THI6)

B. OIIBI

C. (AT

D. 1&g

E Hag

RITHA ST Y TFOMTS GFl *15 A ghost word-IF GRIZIT WR (T [,
(G =&

1. (Pge] A, B SR E
2. (B9« B, D &9 E
3. (I A, C Ed E
4, (P4 B, C 4R D
Options :
5362286885. 1
5362286886. 2

5362286887. 3
5362286888. 4

Question Number : 73 Question Id : 5362281769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T WA NIGUE AT S0 (F S0 WIg, (s =4

1. 721 I (P G?

2. TF R 2T 2 TTON6Id
3. 81F A1 e Aieie g AN
4. 94, (< L7 HHEid?

Options :
5362286889. 1



5362286890. 2
5362286891. 3
5362286892. 4

Question Number : 73 Question Id : 5362281769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 7oA NGB0 AUEFITd S (F 56 =g, (76 =40

1. 21 I (FT TAH?

2. XfF R AT 2 OB
3. 8T 21 Feiw Hfere] g W
4, 9Iq, (P YR 447

Options :

5362286889. 1
5362286890. 2
5362286891. 3
5362286892. 4

Question Number : 74 Question Id : 5362281770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT AEACT AT B [ofa FF NG FIFRI0 NI4T Pl =60

A AT =0T TN 2w B

B. STNICHE W& I izeTarasa of=dr IEmrag g Bt Weg | —a% Iead
SIta Yo el APHH-INTI (LA AB AT WAIAT WIS 2579
HIeA A |

C. AL A CTH FHA-STNCT 2135 FLIE |

D. AT I FE LT FMHFACE (2T (AT 493 CFalauenT *Mae S E
ST T TSI (TS (TR |

E. RFINGF *NHAAT J95 IFTE *THRAA— (FIAT (5T @S e =1 IAmaem|

Ao el (9 ©iF JFNg 2T B

oE T Plw (- Fegtre 9ot T8 &7, (G =4

1. (P91 A B AR C
2.(P41B, CHARD
3.(F4FIC, D E4RE
4 (PIID, E L9 A

Options :

5362286893. 1
5362286894. 2
5362286895. 3
5362286896. 4

Question Number : 74 Question Id : 5362281770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT AEACT AT B [ofa FF NG FIFRI0 NI4T Pl =60

A AT =0T TN 2w B

B. STNICHE W& I izeTarasa of=dr IEmrag g Bt Weg | —a% Iead
SIta Yo el APHH-INTI (LA AB AT WAIAT WIS 2579
HIeA A |

C. AL A CTH FHA-STNCT 2135 FLIE |

D. AT I FE AT FMHFACHE (2T (TR 493 CFaauenT *MaE S E
HFIGTA YT ST (TS (TR |

E. RFIEF *NHAAT J95 IFTE *THRAR— (FIAT (5T @S o= =1 Amaem|

TG el (9 ©iF JFNg 2T B

oE T 1Plw (- Aegtrs 9ot T8 &7, (G =4

1. (P91 A B AR C
2.(P41B, CHARD
3.(F4FIC, D E4RE
4 (PIID, E L9 A

Options :

5362286893. 1
5362286894. 2
5362286895. 3
5362286896. 4

Question Number : 75 Question Id : 5362281771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATE 2YW OIfTHT FIIPI0 QIR OIS 92 Forg OIfeTry (2 ©rF (ATF WI5TS 5]
®d G el

OIfeT 1 RIGEI

A, (ATETH i, I

B. S9N i, 2O
C. T iii. B<LANGT
D. [FErasmen iv. CPTaf5eT
E TR v. G

ANS NP0 3 oldd AP0 2o

1.A-i,B-ii, C-iv, D-v E-ii
2.A-i0i,B-ii,C-i, D-v,E-iv
3.A-0i,B-i C-iii, D-v,E-iv
4 A-iv,B-ii,C-i, D-v,E-ii

Options :

5362286897. 1
5362286898. 2
5362286899. 3
5362286900. 4

Question Number : 75 Question Id : 5362281771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATE 2YW OIfTHT FIIPI0 QIR OIS 92 Forg OIfeTry (2 ©rF (ATF WI5TS 5]
®d G el

OIfeT 1 RIGEI

A, (ATETH i, I

B. S9N i, 2O
C. T iii. B<LANGT
D. [FErasmen iv. CPTaf5eT
E TR v. G

ANS NP0 3 oldd AP0 2o

1.A-i,B-ii, C-iv, D-v E-ii
2.A-i0i,B-ii,C-i, D-v,E-iv
3.A-0i,B-i C-iii, D-v,E-iv
4 A-iv,B-ii,C-i, D-v,E-ii

Options :

5362286897. 1
5362286898. 2
5362286899. 3
5362286900. 4

Question Number : 76 Question Id : 5362281772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T ST 1 ) 1 PR e s ) B - 3 ) A B A M s a1 e 5 [ - R R | R BT R
PRRA O FLAFIG G (ST =
A GGl
B. qmIfY
C. &M
D. OIN4

S0 Wl (F @0 (49T 20U08 oWs SIPLo (5 Gud S [Ahgio 2.

1.A, B, D, C
2.C,B, D A
3.0,CA B
4.D A B, C

Options :

5362286901. 1
5362286902. 2
5362286903. 3
5362286904. 4

Question Number : 76 Question Id : 5362281772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T ST 1 ) 1 PR e s ) B - 3 ) A B A M s a1 e 5 [ - R R | R BT R
PRRA O FLAFIG G (ST =
A GGl
B. qmIfY
C. &M
D. OIN4

S10% Wl (F @0 (49T 20U08 oWe SIHLo (HE Gud S [Ahgio 2.

1.A, B, D, C
2.C,B, D A
3.0,CA B
4.D A B, C

Options :

5362286901. 1
5362286902. 2
5362286903. 3
5362286904. 4

Question Number : 77 Question Id : 5362281773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT Toar FNAT G [©fg B1F I PLIBIb IS Hdl 24
A foar Snarg a1 fFFae (g St e zrafes erger sfger|
B. Toar S SR HEOIG (o141 =9 Fereniag I |

C. GNP SAGIAAE [RETad O, WMMIS CTUHT ALSH FRd TP
WIEA--- (I (PICAT BEOE A Toar Saa W4 J2 K2 ©lad ARIEN 756
4 T

D. foarg wan et Seamsy sifar
E. foar S 2We O] WA (HTNT WGIH PHoNs ANAF @ 6o
e He (0o (I-[Aoghre Jaeh T8 8%, (6 =

1. (P D, E 498 A
2. (PIT A, B A8 C
3. (BB, C AR D
4. (PI1C, D AR E

Options :

5362286905. 1
5362286906. 2
5362286907. 3
5362286908. 4

Question Number : 77 Question Id : 5362281773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT Toar FNAT G [©fg B1F I PLIBIb IS Hdl 24
A foar Snarg a1 fFFae (g St e zrafes erger sfger|
B. Toar S SR HEOIG (o141 =9 Fereniag I |

C. GNP SAGIAAE [RETad O, WMMIS CTUHT ALSH FRd TP
WIEA--- (P (PICAT BEOE A Toar Saa W4T J2 K2 ©ad ARIEN 756
4 T

D. foarg wan et Seamsy sifar
E. foar SN 2We O] WA (HTNT WeIH BIHoNs ANAF @y 6o
A He (0o (A-[AogGre Jash IE8ar &%, (i =0

1. (P D, E 498 A
2. (PIT A, B A8 C
3. (BB, C AR D
4. (PI1C, D AR E

Options :

5362286905. 1
5362286906. 2
5362286907. 3
5362286908. 4

Question Number : 78 Question Id : 5362281774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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AETTOIRS % (AF AYY SITHE SIS0 ofer, 492 oy oIy (e &
P LA O GlY T4l 240,

OIfeTHl 1 S GEa )
A T4 = G (FAH :
Ufta S8 I e (e aA || | S ML A

B. €3 Y€y RF (W T Ty 2f1ey) ) e
wq W A = QG == | i O '

C. (27 ®oniE o TI2 W]

(T I SIS AT S5 | i, GOV F<s Tz 1ot
D. I MG (16 (I I =T |, s IS
COTNTY Blaaely O R g | S oe SRR
oS N(PLw 3% Gardd [Hegit 2:

1.A-iii, B-iv,C-ii,D-i

2 A= B, D
3.A-iii,B-iv,C-i,D-ii
A A- 0, B-iii,C-iv,D-ii

Options :

5362286917. 1
5362286918. 2
5362286919. 3
5362286920. 4
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 5362281777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 5362281777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 5362281778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 5362281779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 5362281779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 5362281780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 5362281780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 5362281781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 5362281781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 87 Question Id : 5362281783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Question Number : 88 Question Id : 5362281784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A TAEE 2ORAT G 9190 22T W 9900 d 96+ 906 (T
ArS0o:

1. 8

2.9

3. ¥[8

4. 9%
Options :
5362286949. 1
5362286950. 2

5362286951. 3
5362286952. 4

Question Number : 89 Question Id : 5362281785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I LN *1 TRy 72|
RN 2EY] 4P 4579 98941 |
FSI! AT SN AL AT =

1. W&
2. (A

3. WA
4.

Options :
5362286953. 1
5362286954. 2



5362286955. 3
5362286956. 4

Question Number : 89 Question Id : 5362281785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT JEA *1 iy TS|
AFS 2B AT A977F 485741 |

PG AT WA ST AT 2LA:

1. S
2. O

3. WA

4. N3
Options :
5362286953. 1
5362286954. 2

5362286955. 3
5362286956. 4
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Question Number : 94 Question Id : 5362281790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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3. WeTd
4, AfleT®

Options :

5362286985. 1
5362286986. 2
5362286987. 3
5362286988. 4

Question Number : 97 Question Id : 5362281793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I (151 C4TE |
T AT 5197 T2 |
FFLIO A2 2RG00 (T 51 U (S 20A0R 9 =40

1. IR

2. st

3. WEATd
4, AfE®

Options :

5362286985. 1
5362286986. 2
5362286987. 3
5362286988. 4



Question Number : 98 Question Id : 5362281794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(AT MTad T 57 WITFC AIE FLAD 6 §F-W&HT TS (ST =%
A. (ORGSR SNGER T AU SO PLaee [+ |

B. ST BT ¥V JH6 NI T (AR 59 a4 ¢ |56 |

C. SIS BT A5 Prel WA S S0RF PG W0 BT Ixm|
D. ST BFITord HiEFerels! f&e GI=g Sfgsng|

E. R wiBw fEre= widw Ered I

S He (P00 (I- g Bre A9 n 8] &%, (6 2

1. (LT A B d<8 C
2.(P9e1B, CE9s D
3.039¢1 C, D Ed5 E
4. (P D, E dds A

Options :

5362286989. 1
5362286990. 2
5362286991. 3
5362286992. 4

Question Number : 98 Question Id : 5362281794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(o™ FTgd T 57 WITFL AILE FLNPI6 - & TS84 (ST =%
A. (RIS S SRGET ST U5 S0 Fldige [

B. ST QI ¥V JHIGNNE *1T (AR $5'9% A4 ¢ |G|

C. ST BT 6N Pl STER He A= PG (W FHIURRe=1 T=mi|
D. ST BITord HiErerers! [&e Tuem=g wiEsna|

AR EIGERE R GIE RG]

HANE H(P(o (1-FFFore T9F0 NEd] 87, (16 =6

1. (P91 A B AR C
2.(P4e1B, CHUdR D
3.(PF41C, D d4R E
4 (P41 D, E LR A

Options :

5362286989. 1
5362286990. 2
5362286991. 3
5362286992. 4

Question Number : 99 Question Id : 5362281795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5B ﬁfﬁ RS9 a5~ TMOd HRACad =T |G (M&AT =

4449

SITEd FLH0D (TP (AT FAHT (9 FLNd BF [FGIe 2o

TEB, CAD
2.CAEBD
3.5.B,. DA E
4.B,D, A EC

Options :

5362286993. 1
5362286994. 2
5362286995. 3
5362286996. 4

Question Number : 99 Question Id : 5362281795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5B ﬁfﬁ RS9 a5~ TMOd HRACad =T |G (M&AT =

4449

SITEd FLH0D (TP (AT FAHT (9P TN BF [FFIe 2o

TEB, CAD
2.CAEBD
3.5.B,. DA E
4.B,D, A EC

Options :

5362286993. 1
5362286994. 2
5362286995. 3
5362286996. 4

Question Number : 100 Question Id : 5362281796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AN A P ATFHEAT e FI I FIAPI6 &G-S ®T NI4T
(& =2

A. fafoFeTmazen: et Sy 03 o8 20 g i 2|
B. (LG Gvy® MUF =1 Wi 8 T <

C. ‘G TH AACH oA WG () TFFOF 2T V7|

D. ‘CT™THE THM' 2ATH G0 W 47 7 Grg---' (F6F 601 [oonT |

E. SIE U0l (F1Ee SESTS 0T 43l — 4% 2610 GRyo 20 g
WHEPR 8 g WiESE vt 2@z

HAE H(H0o (I-FPgore TSt TE8d) &%, (76 26

1. (PITA B 44 C
2. (P9 A D IAARRE
3.(3FEC, D A48 E
4 (P91 A D HAARRE

Options :

5362286997. 1
5362286998. 2
5362286999. 3
5362287000. 4

Question Number : 100 Question Id : 5362281796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AN A P ATFHEAT e FI I FIAPI6 &G-S ®T NI4T
(& =2

A. fafoFeTmazen: et Sy 03 o8 20 g i 2|
B. (LG Gvy® MUF =1 Wi 8 T <

C. ‘G THW AACH YOI WG () TFFOF 2TT N7 |

D. ‘CT™THE THM' 2T(H G40 W 47  GHg---' (F6A 601 [oonT |

E. "SIE U0l (F1Ee SESTS 0T 43! — 4% 2610 GHY 20 g
OHEPR 8 g WiESE vt 2@z

HAE H(H0o (I-FPgore TSt TE8d) &7, (6 26

1. (PITA B 44 C
2. (P9 A D IAARRE
3.(3FEC, D A48 E
4 (P91 A D HAARRE

Options :

5362286997. 1
5362286998. 2
5362286999. 3
5362287000. 4

Question Number : 101 Question Id : 5362281797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G ABGO ATEI AINQ ATF (AT PIIFIO TF (ST 24T

A. T 5rSIF O3 5@ IR (7Y, T (AT 2 Fansa | FFg Tore
EIGISEA CIEEREIEY

B. (579 Ea W04 Q81 “F 03 W (F9e1 W W@ 2dd WY | (L fof
(FIING g ==, fof (g

C. TRAGHITS FETF Ho WP, FrGHNs e AoT|

D. O W4T, WISTIS T TG AT -- ©Iad Word | 997 #[F9 w1z (F
[ietes FgorR a1 |

E. G WoATE SRR WA 5 22 AR TGeTs WHF (0 WA
S WA ST FF, WA (TN WAF FAFE PRI G- HALS (A2
DI (L (7% O1EE W3 o, OIRId BIfE Ml (B @rasid Wz

TS 2q0H (T T AT, HI 00 Ok 5% [ego 2.

1o ABE B
2.A,DBEC
3.0, A D EB
4B, ADEC

Options :

5362287001. 1
5362287002. 2
5362287003. 3
5362287004. 4

Question Number : 101 Question Id : 5362281797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G ABGO ATEI AINQ ATF (AT PIIFIO TF (ST 24T

A. T 5rSIF O3 5@ IR (7Y, T (AT 2 Fansa | FFg Tore
EIGISEA CIEEREIEY

B. (579 Ea W04 Q81 “F 03 W (F9e1 W W@ 2dd WY | (L fof
(FIING g ==, fof (g

C. TRAGHITS FETF Ho WP, FrGHNs e AoT|

D. O W4T, WISIIS T TG A -- ©Iad Word | 997 #[F9 w1z (F
[ietes FgorR a1 |

E. FTETSA WoATE SRR WA 5 22 AR eI WHF (U WA
S WA ST FA, WA (TN WA T PRI G- HALS (20
T (L (372 OI2F W30, OIRId BIfE Ml (PIa @asid Wz

TS 270H (T 0 AT, HI 00 OF 5% [Fego 2.

1o ABE B
2.A,DBEC
3.0, A D EB
4B, ADEC

Options :

5362287001. 1
5362287002. 2
5362287003. 3
5362287004. 4

Question Number : 102 Question Id : 5362281798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A DEINIIEA 2B BN WIATA NI SLAPI6 &G - &7 TFD (ST =0
A. FAI TACAR F=4f WY f[{TAA S6Td S|

B. TATHGE S WrST=1 e T=aw+[q|

C. AR Wono baas@d I oy b

D. TR AWML (TN57 (RSHT TANF TR (579 ATl BIFl|

E. 3R *MILS G Tral S0E (7 Aot (00 (AT |

SME Ao (1-Segore 9ot T8d 87, (3G =

1. (PTA B AR C
2. (P48, C, &4k D
3. (P91 C, D SR E
4 (PFTA D IR E

Options :

5362287005. 1
5362287006. 2
5362287007. 3
5362287008. 4

Question Number : 102 Question Id : 5362281798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A DEINIIEA 2B BN WIATA NI SLAPI6 &G - &7 TFD (ST =0
A. FAI TACAR F=4f WY f[{TAA S6Td S|

B. TATHGE S WrST=1 e T=aw+[q|

C. AR Wono baas@d I oy b

D. TR AWML (TN57 (RSHT TANF TR (579 ATl BIFl|

E. 3R *MILS G Tral S0E (7 Aot (00 (AT |

HE H (o (1-FFgiore A9 NEd] &%, (G =

1. (PTA B AR C
2. (P48, C, &4k D
3. (P91 C, D SR E
4 (PFTA D IR E

Options :

5362287005. 1
5362287006. 2
5362287007. 3
5362287008. 4

Question Number : 103 Question Id : 5362281799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(CUITia® «aid a0 Sy I~ WK G0 (3 s Wil G007 G 26

. 53T PTG [l
NGl CEGERG
. S HNIIGroT PLeid Wl

Fu L P =

Options :

5362287009. 1
5362287010. 2
5362287011. 3



5362287012. 4

Question Number : 103 Question Id : 5362281799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(GuTToTEm ~ig TR0 ST0E ©I= NI G (F N6 Wy A01%e (716 26

1. W51 Fe1g T
PR || R G ER G

3. A PLeId W<

4. HMGral FLeAg Tl

Options :

5362287009. 1
5362287010. 2
5362287011. 3
5362287012. 4

Question Number : 104 Question Id : 5362281800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST W PIATH PLIFG NG WY T S iE (eT =41 A9 WET PITP0
7 8 PLABID AGG:

A comyfer @ fite - oot sisf

B o B - 5ol 5f

C (& Of Y - T 5f

D wif¥rer, (BE- =T 8 o - =gy 575f

E WA AT - 7T Hsf

T A TP0D (I- GBI FIBI6 5l M4 &%, (6 =+

1. (PIT A B &8 C
2. (P9I B, C 45 D
3.(FIEC, D 44 E
4 (PITACHUQRE

Options :

5362287013. 1
5362287014. 2
5362287015.3
5362287016. 4

Question Number : 104 Question Id : 5362281800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST W PIATH PLIFG NG WY T S iE (eT =41 A9 WET PITP0
7 8 PLABID AGG:

A comyfer @ fite - oot sisf

B o B - 5ol 5f

C (& Of Y - T 5f

D wif¥rer, (BE- =T 8 Jar - =gy 575f

E WA AT - 7T Hsf

T A TP0D (I- GBI FIBI6 W5l M4 &%, (6 =+

1. (PIT A B &8 C
2. (P9I B, C 45 D
3.(FIEC, D 44 E
4 (PITACHUQRE

Options :

5362287013. 1
5362287014. 2
5362287015.3
5362287016. 4

Question Number : 105 Question Id : 5362281801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wld9 8 A O« ¥ wlld

G FHEIHI WA |
AT 5 FIA] OI906LHd A% SNt (3 S0 WE (g =Y =4
1. [ABI™=
2, *Egam
3. TIFOITHA
4, SRATT

Options :



5362287017. 1
5362287018. 2
5362287019. 3
5362287020. 4

Question Number : 105 Question Id : 5362281801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS 8 AT O He OIS
A0 PHEIHT WA ||
AW FE) OII960Hd 42 BITos (F W0 | (Aod "y 24

1. BT

2. g

3. IOl

4, SR
Options :
5362287017. 1
5362287018. 2

5362287019. 3
5362287020. 4

Question Number : 106 Question Id : 5362281802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Sttea WG i Tamd PIF AU 212 NG (ATT PTG HeelH & Biatag =y

(HEHT =241

LIGEN RIGEaE
AT THE WA i, o

B. @ Il ¥, T% ©ILeT: HIGIE N+ 5@ |ii. CRI#{Al
CIUF 91 (A F5fere =9 Sfad iii. a1
D.IZ2I (PIAT FH (V3 GO iv. I

OIeT3P] Hod AN [ A WS AP0 55 5ol [[KPHIb 26

1. A-iv, B-iii, C- i, D-i
2. A-i, B-iii, C- ii, D-iv
3. A-iii B-iv, C-ii, D-i
4. A-iv, B-ii, C- i, D-i

Options :

5362287021. 1
5362287022. 2
5362287023. 3
5362287024. 4

Question Number : 106 Question Id : 5362281802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Sttea WG i Tamd PIF AU 212 NG (ATT PTG HeelH & Biatag =y

(HEHT =241

LIGEN RIGEaE
AT THE WA i, o

B. @ Il ¥, T% ©ILeT: HIGIE N+ 5@ |ii. CRI#{Al
CIUF 91 (A F5fere =9 Sfad iii. a1
D.IZ2I (PIAT FH (V3 GO iv. I

OIeT3P] Hod AN [ A WS AP0 55 5ol [[KPHIb 26

1. A-iv, B-iii, C- i, D-i
2. A-i, B-iii, C- ii, D-iv
3. A-iii B-iv, C-ii, D-i
4. A-iv, B-ii, C- i, D-i

Options :

5362287021. 1
5362287022. 2
5362287023. 3
5362287024. 4

Question Number : 107 Question Id : 5362281803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

 LFE [ A0 Toror NIGlE TSI *id WY (T 5fEai® Gre (Grafed, org "Iy =

1. (6@

2.7y

3. 9T

4, 0=
Options :
5362287025. 1
5362287026. 2



5362287027. 3
5362287028. 4

Question Number : 107 Question Id : 5362281803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

 ATFE [ I Torar NGl S *%d WY (¥ 5Ealt S-re (GUaRd, OIh = ==
y E[;'ﬂ;q
=

bW o

Options :

5362287025. 1
5362287026. 2
5362287027. 3
5362287028. 4

Question Number : 108 Question Id : 5362281804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G FEFGH WON ] ©Igo T A FIILR AT (8T 2
B. wla]=Z

C. GorH
D. AL

NITHd TP (ATF OIHI WHwNId 5% FAb 24

1.8, D A C
2.D,C B A
3.A,C, DB
4.B, A D C

Options :

5362287029. 1
5362287030. 2
5362287031. 3
5362287032. 4

Question Number : 108 Question Id : 5362281804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G FEFGH WON ] ©Igo T A FIILR AT (8T 2
B. wla]=Z

C. GorH
D. AL

NITHd TP (ATF OIHI WHwNId 5% FAb 24

1.8, D A C
2.D,C B A
3.A,C, DB
4.B, A D C

Options :

5362287029. 1
5362287030. 2
5362287031. 3
5362287032. 4

Question Number : 109 Question Id : 5362281805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



NITH VOee EXEICNE S0 EL4d Sars FRol (AT FEF0 & (MeT ==
A. TG ST GFl, R, 197G,

B. WG S5 (FICHT T 4

C. SISt BI5(E 919, 2 NF,

D. TG 257 I8, %57 I8,

SITEd FFS (AT Flaory ffeafam Srares g &g [95aft =0

1.B,A D C
2.A,CBD
3.C,0D,AB
4.D,B A C

Options :

5362287033. 1
5362287034. 2
5362287035. 3
5362287036. 4

Question Number : 109 Question Id : 5362281805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1T VG BN S0 oL 4d Sarsy FEol (AP S & (8T =
A. TG S GFl, R, 194E,

B. WG A5 (FILAF T 4

C. SISt GI5(E S51F, 27 N,

D. TG 2576 I3, %57 I8,

Ed TMFS (AT Flaory Hfesfag Srarys Fiug wy [5gC ==

1.BA D C
2ACED
3.CDAB
4.D,B A C



Options :

5362287033. 1
5362287034. 2
5362287035.3
5362287036. 4

Question Number : 110 Question Id : 5362281806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o e Seomnie, 23 Seahie, B oge =EE ieAeEas )
— JAHIACI WY HRO 5% SEde 42 o e

IR PR

3. AFAOH GLEIAIAT
4. T T
Options :

5362287037. 1
5362287038. 2
5362287039. 3
5362287040. 4

P =

il

Question Number : 110 Question Id : 5362281806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ol e Fomnhie, 2uEN Jomhe, By ogd 250 eARas |
— FAEAIRE WS HRer arE GEtde g3 o ==



Options :

5362287037. 1
5362287038. 2
5362287039. 3
5362287040. 4

Question Number : 111 Question Id : 5362281807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SNIE ST -4 T sngd 2w oni<dan of 957 a1 97 3fs 7 smy,
(37 518 =+

1. P
ferdr

L P

4.9

Options :

5362287041. 1
5362287042. 2
5362287043. 3
5362287044. 4

Question Number : 111 Question Id : 5362281807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

N 1 G R 11 ) 3 e 1 < ) = = | B 1 e 1 0 R o R s | SO R ) 47
(37 5% =+

1. e
RCEik
Gilsee
forg

Options :

B



5362287041. 1
5362287042. 2
5362287043. 3
5362287044. 4

Question Number : 112 Question Id : 5362281808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST BIAPTH FIUFG A 49: [Gory Sy SEPI6 Bld $U 5y T =4

ST 1 SIeTHT 2

A TR TS oY
el EGROEA B i, Melge BT
WIEMIGI Hd S B (d1

B. TR X0 T4+
YIRS |
Yl (372 319 4ITR (%19
FINGLEE BRI

C. A (FTF AR
e I PLAA B,
TEFI= 18, TGN
I SIES W= |

D. 5%+ T9 I Wel
?%Em? EE; o |V DR R S '
A TG (@[

S B P 3 v. “HIIeG He1g e 92 B WIard

55+ (9G] 236 (U5
: "Ef l\'.-jl ¥ @ Il& \2 "‘b
(NCO0E OIS it 74 (G . : €t

F<eel (R0 00T
o OIEPE NI ATNE [[Y B AR H (B0 (55 Geldd [Pgib 2o

i. B NaR FAgS B9

iii. AT WG9 Pegs TF

m

1.A-iv,B-v,C-i D-ii E-iii
2. A-iv,B-ii,C-v,D-iii, E- 1
3.A-iii,B-ii,C-i,D-v,E-iv
4. A-iv,B-ii,C-i, D-v E-ii

Options :



5362287045. 1
5362287046. 2
5362287047. 3
5362287048. 4

Question Number : 112 Question Id : 5362281808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST BIAPTH FIUFG A 49: [Gory Sy SEPI6 Bld $U 5y T =4

ST 1 SIeTHT 2

A TR TS oY
el EGROEA B i, Melge BT
WIEMIGI Hd S B (d1

B. TR X0 T4+
YIRS |
Yl (372 319 4ITR (%19
FINGLEE BRI

C. A (FTF AR
e I PLAA B,
TEFI= 18, TGN
I SIES W= |

D. 5%+ T9 I Wel
?%Em? EE; o |V DR R S '
A TG (@[

S B P 3 v. RIS He1ge 992 B Ward

55+ (H1G] 2T (UG
: I"E:'f ',U. ¥ @ Il& I\z I“b
(NCO(E OIS it w4 @G0T . : E- 4

F<eel (R0 00T
o OIEPE NI ATNE [[Y BIE A0S H (P00 (35 Geldd [Pgib 2o

i. B NaR FAFS B9

iii. AT Waid $€9S 1

m

1.A-iv,B-v,C-i D-ii E-iii
2. A-iv,B-ii,C-v,D-iii, E- i
3.A-iii,B-ii,C-i,D-v,E-iv
4. A-iv,B-ii,C-i, D-v E-ii

Options :



5362287045. 1
5362287046. 2
5362287047. 3
5362287048. 4

Question Number : 113 Question Id : 5362281809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS *EAS AR (4T ANEAE T FUNS A2 HFM 91 (B8 PG N2 '— TFI6 BIH0S
48 TFA PG TP A GP-TF==TF | &5

1, AT BLEIHTET
2. AT IFA
3. (AIETY BLEIHTETY

4. AT Ta &+ WP

Options :

5362287049. 1
5362287050. 2
5362287051. 3
5362287052. 4

Question Number : 113 Question Id : 5362281809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W *FS A (141 ATEAE GiAA) SUNES W32 AP q1 (G Bl W2 I'— T35 [BIIT®
4% TFII PLIRLE TFEH A qB- A=A | fof;

1. qA= BLBIATEIT
2. IAH HP

3. (AL BLEIEITE
4. AT &= A

Options :



5362287049. 1
5362287050. 2
5362287051. 3
5362287052. 4

Question Number : 114 Question Id : 5362281810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wiErd S1Ey (7 &t Girg v Rorarig et vz forgEs E6« 98 9za
R R (5 5 3 e s - s o o 1] 2 S B ) | T A 4 PO 1 ETAG) £ R [
SRS AV 2ACF AT TG T=H A% BT TN, O 20e:

1, TG>T

2. -

3. JIGMwe

4. (G
Options :
5362287053. 1
5362287054. 2

5362287055. 3
5362287056. 4

Question Number : 114 Question Id : 5362281810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wizE 1 (7 @t B o= g e, oEcs forgEs 3+ 98 929
AT AR I N=2— (312 3 IVGIZ ATOM= GO AGrorg /' — RO A
SRS AV 2ACE AT TG ==H A% BT I, O 20em:

1, TG>T

2. -

3. JIGMwe

4. (G
Options :
5362287053. 1
5362287054. 2

5362287055. 3
5362287056. 4

Question Number : 115 Question Id : 5362281811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TTIN% SR TG AT ~“ihd bW (T SN 915 $99 ©ld AT

1. B ZHFIAI
2. PIEFAF
3, ARHARAI

4, qrFIH]

Options :

5362287057. 1
5362287058. 2
5362287059. 3
5362287060. 4

Question Number : 115 Question Id : 5362281811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TTAADILE NOPIG V2T A AR B (T Y 915 90 Ol AT

1. G RHPTHI
2. PIBETE
3, AEHARAI

4. AIAARIH]

Options :

5362287057. 1
5362287058. 2
5362287059. 3
5362287060. 4

Question Number : 116 Question Id : 5362281812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T G T G FES6 T6 Sl =07

A. TG BT (ATF A6 TR0 BT GI FAFITod SN Ga Iomsi= |

B. STNITG 556 49 [MHTHIGT NMINa W8T TH0s( 75 Pl JPIPN ATTEF
HZRgerd Wwed & ATH9f- [

C. MIfSFS TEa SHTS 11 8% (O3 60 TJA—g2 WieTIrs) I ©1g
STHAIACE WHPIE S|

D. SN G HATF 5o oI AT S — ATGPI6T JoT=dd 43
CETST-I1<5T (TR (TR0 T1F Iorfey-47 BIesf forg 2 Sff«ifses e |

E. ST WA 7Y, (Aas G FLNEE [Fa I - 99 AN 7557 |

aE N Plw (1-Fegtre 9ot T8d &7, (G =4

1. (PFTA B AR C
2.(P4<1B, C AR D
3.(F9IC, D F4RRE
4 (PITA D IARE



Options :

5362287061. 1
5362287062. 2
5362287063. 3
5362287064. 4

Question Number : 116 Question Id : 5362281812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IR AT GBI THTE NI FP T Bl 2

A. STRICGE G (A0 S1Tbd TR0 LA <11 FAsAiod STes e f&e o= |

B. NG 566 A9 [NHIRIbE WRIEg W8T Io70s( 5% PLaine JPIPT AT gF
STRATOId We[d 8 A TI9- Koo

C. FS TEd SIS 17 5% (O 60 TAN—IE STera19] IR OfF
S WEPE B |

D. STl A% AL S Aoatd AT $9d ' — AT GHICT Jonrondg 43
(TS (4T (1A 1Y Formsfer-4g BIesfG (o fae gf#ifEes anerfa

E. ST WG Y, (s GEFAHGE [Fe Toe(=-99 AN 7557 |

FHa FAHLO (I- [P0 AISIb T84 &5, (A5 =7,

1. (P A B 448 C
2. (P91 B, C A4 D
3.0P9e C, D F45 E
4 (P91 A, D G4 E

Options :

5362287061. 1
5362287062. 2
5362287063. 3
5362287064. 4

Question Number : 117 Question Id : 5362281813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

THMA D 5ad [OI* 2TFH TAII FASIL ST N6 (ST 2

A. NACTRAAE *I(& O S ofomaory, W el O SIgaard, Marse=d
Weld|
ol |

C. FY(PT e1-Yho 2 =7 2TON ST |

D. WMLEA (M2 (ARS8 (73 2 Pifeds g5 Sug|

Gad feiEer 2@EmE Teael (O @ 9T 20y oWe Ao (98 i 3%
Awglt ==

1 B:C, AL
2.8 BD
3.0,A,CB
4.C DB A

Options :

5362287065. 1
5362287066. 2
5362287067. 3
5362287068. 4

Question Number : 117 Question Id : 5362281813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THAE A "Ted [ AT I FIITF6 TSI ILs (O 26:

A. AT *Mf& O S ofoneTory, Wd H{eol Ofd SN, Narssi=d
oAl

B. ST 3 GIAa (X9 ST GTIEA 7, QRN VAT WEE61E F060
ol |

C. I AE1-HM0 R = (Ao ST |

D. WLEE (M= FENRSH8 (72 AP ed2 JF10 Gogs|

- Tad M [0 T8arad (3 0T s 2000 one IS0 2 FLd 0%
ﬁﬁﬁ’ﬁ:

1 BAC A:D
2.CAEBD
30,ACB
4.C, D, B A

Options :

5362287065. 1
5362287066. 2
5362287067. 3
5362287068. 4

Question Number : 118 Question Id : 5362281814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ANET AT OITFIT QAR & FHRited WY 493 ey wiisery sosef go-
Afdorara GrEy T =4

RIGER RIGEa

A ST AT i77e8 & NggL
B. U= 9 ii AU B
CITOIHY 0E i Fd9e B
D.AHIYE™ (T4 iv.rorFg

Soy OIeId WHT A& [[THN T S 00 9P baldd [PHIo 26T

1.A-ii, B-iv, C-i, D-iii
2.A-iii, B-i, C-iv, D-ii

3.A-i, B-iv, C-iii, D-ii
4. A-i, B-iii, C-ii, D-iv
Options :

5362287069. 1
5362287070. 2
5362287071. 3
5362287072. 4

Question Number : 118 Question Id : 5362281814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MET AAT SITHRT GLAISHIR 8 FHONPT N 495 [Fory sy ol gv-
AfFwrarg Gy 41 =40

RIGER RIGEa

A ST AT i77e8 & NggL
B. U= 9 ii AU B
CITOIHY 0E i Fd9e B
D.AHIYE™ (T4 iv.rorFg

Soy OIeId WHT A& [[THN T S 00 9P baldd [PHIo 26T

1T.A-ii, B-iv, C-i, D-iii
2. A-iii, B-i, C-iv, D-ii
3.A-i, B-iv, C-iii, D-ii
4. A-i, B-iii, C-ii, D-iv

Options :

5362287069. 1

5362287070. 2

5362287071. 3
5362287072. 4

Question Number : 119 Question Id : 5362281815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AEOATGIES’ 3TE (T (B RS (Forrerd g AGrT=Id SN S
AW, OfF (T2 ORIGI 67 AL

1. MElad wid
2. MIiEH ©[F
3. TTSE ok
4, I o=

Options :



5362287073. 1
5362287074. 2
5362287075. 3
5362287076. 4

Question Number : 119 Question Id : 5362281815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ANETNORES 5 (T (P [T (rorarorg FE AGTE S S

1. helldgd wid
2, RIS ©E
3. M%< O
IR ERTIE]

Options :

5362287073. 1
5362287074.2
5362287075. 3
5362287076. 4

Question Number : 120 Question Id : 5362281816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SIE T BT SIEeTH I SIS0 &5 -S&F TEAT (T =4
AT (I AGAITS | FIATO AT 3 LA FI|

B. GG (T TP o1 T 217 ANH AS2ANO— L2 Y|
CH = AGAITG (T TG TYH |

D FIARIE FroI® ST, BT 751 (UTF GBI

E.Syf%4t {5 Fow =07 BHT G0 ATYE?

e AW (T PR T3P0 NS &7 (25 24

1. (PITA B AL D
2.(P9B, C, 493 E
3. (PITA D A9 E
4. (P91 B, C &5 D

Options :

5362287077. 1
5362287078. 2
5362287079. 3
5362287080. 4

Question Number : 120 Question Id : 5362281816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



N6 AT BT WEeTq A SR §F-S®E TS (A8 =4:
AT (I AGAITS | FIATO AT 3 LA FI|

B. GG (T TP o1 T 217 ANH AS2ANO— L2 Y|
CH = AGAITG (T TG TYH |

D FIARIE FroI® ST, BT 751 (UTF GBI

E.Syf%4t {5 Fow =07 BHT G0 ATYE?

e AW (T PR T3P0 NS &7 (25 24

1. (PITA B AL D
2.(P9B, C, 493 E
3. (PITA D A9 E
4. (P91 B, C &5 D

Options :

5362287077. 1
5362287078. 2
5362287079. 3
5362287080. 4

Question Number : 121 Question Id : 5362281817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W J1Z, T V15, P 15, WY W18, 2/WF W% — J5F 9 7ES I§ 25T - FFHIAF
BAGHAIT S % 9ol (7 F1snoE AferEam= o6 =<

1. i T F91
2. fn g o=
3. AGES

4. M [Fsoa 1y

Options :
5362287081. 1
5362287082. 2



5362287083. 3
5362287084. 4

Question Number : 121 Question Id : 5362281817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

N WIZ, T I, I 15, Y= F1E, 2+F W% — J5F ANES T 2B’ - FHIAL
SAGAT 5E 4% [F3feft (7 FonTg Afetan it ==

1. 7 T P91
2. fa i o=
3. A1gfRe

4. T By Y

Options :

5362287081. 1
5362287082. 2
5362287083. 3
5362287084. 4

Question Number : 122 Question Id : 5362281818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IE R¥g=F BANIN WIAHH PLIBIb &G-S NG (ST 2:

AT 35 (5= IR O Frsfial ge S ST @ Fidafem |
B 2II7[(3F GRMESA (20! (AILHF T4l

C. Ao AT Sy M= @0 I I3

D.OEAIGAT -FHA =14 ATorGIa b1 IRLI4|

E. 2V #2m GreTg [{y 33 o= g fa=)

2TS HHLO (T [SF OO 54 FUO 6T &5 G120 =

1. (PFT A B 48 C
2. (P91 B, C AR D
3. (BT A D A4S E
4. (P91 B, C A4 E

Options :

5362287085. 1
5362287086. 2
5362287087. 3
5362287088. 4

Question Number : 122 Question Id : 5362281818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IE R¥g=F BANIN WIAHH PLIBIb &G-S NG (ST 2:

AT 35 (5= IR O Frsfial ge S ST @ Fidafem |
B.XIFLIT G (29! (ALATHE 11|

C. Ao AT Sy M= @0 I I3

D.OEAIGAT -FHA =14 ATorGIa b1 IRLI4|

E.2H1 *1=m1 GIerd [ 97 1552 o e

28 A0 (T [RPHG00 59 PAD TSI &G (126 =47

1. (PFT A B 48 C
2. (P91 B, C AR D
3. (BT A D A4S E
4. (P91 B, C A4 E

Options :

5362287085. 1
5362287086. 2
5362287087. 3
5362287088. 4

Question Number : 123 Question Id : 5362281819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WY A, A9 GIP] (O WNITHE RIPIE (2 T RI9EE NE-F120 S S
20T B0F (T BIPIE AN ATIGH 0T GINCHRA, (TG 26T

1. B RNGi[
2.+ =G
3. MG o 216

4. SNGIZ 2GS

Options :
5362287089. 1




5362287090. 2
5362287091. 3
5362287092. 4

Question Number : 123 Question Id : 5362281819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W] JeA0e, D GIPI (O] SNHE HIPIA (W2 SRR [E-A120E GANIT Sye)
20579 A (T BT ARG ATINGH 0 GIieaes, o =4

Options :

5362287089. 1
5362287090. 2
5362287091. 3
5362287092. 4

o L P —

Question Number : 124 Question Id : 5362281820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG ATRAINEE T 2HqH WHACT 16 [ (R8T = 19 4B(6 TS 8
SI1G OId ACATE e

WS AT TLFTS F A WG 2 T

@ (A, FIITFAT WO N4l I A0 |
TN 7o ([0 R ARFS NHa Siwre B Gadlt =+

1. T8q) & Ife Gz 3
2. TR 3% g it o
3. Y8416 el (58 et e
4. T84T 8 Yo GoaE ue

Options :

5362287093. 1
5362287094. 2
5362287095. 3
5362287096. 4

Question Number : 124 Question Id : 5362281820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TG AP AT 297 WPIa 7t 9909 (81 = 19 JHi6 TS &
WI6 O STATE e
TS {HAE STYETS NA1d S T2 W7 G |

o (1, FIAH0E Wolld V4 FEd W]
Toad it 990 ARTARETS SIt6d (0o PF Gedib 24

1. 89 & e Gogt 3
2. TSI P 8 A’ o
3. MBI ool (8 I 3
4. T3] & I Gois ue

Options :
5362287093. 1



5362287094. 2
5362287095. 3
5362287096. 4

Question Number : 125 Question Id : 5362281821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Vel AIPIAF ‘AP RO AGH WAL PLAPI0 NS AT (AT =6

A. B ESRINGIFI oA 4 AKAIS [[IPe |

B. (3 ¥ 9% =10/ Gy o1 OIF Rlate S0 PR (6 26 AR (@G
BIGIfe g eTeId |

C. WIBLd oy WrE Semnyd I5d Y [o|

D. *[AM 8 IS BIGT AGLH WE AF NG AP bida ANz

E. FFINGS ARG B R AT (7401 24 51T |

MG AP0 (T [PHOLO 74 HIb TS &G (16 =4

1. (PFeT A A3 C
2. (P C EA D
3. (P D E9 E
4. (PIT A LR D

Options :

5362287097. 1
5362287098. 2
5362287099. 3
5362287100. 4

Question Number : 125 Question Id : 5362281821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AW AIPILAS (B EMORDT WGP ST PLAPIG WS N6 (ST =67

A. B EORPI NGRS SEAT 4 KIS [P |

B. (4 ¥ 9% =G/ Gy SHIOHIY ©IF Qats JHoe SLIR (36 1261 AEisid (1%
BIGIe g eTerd|

C. NG T oy wIiE Somied 357 N [{om|

D. *[W™ 8 IOTE! QST G WF A6 E 2P0 biEg wng|

E. GREITGI ATSIF B TR IS (741 AT 9MF |

NS HLPLO (T [[{PHGLO T4 PI6 NS &% (6 24

1. (PFeT A 93 C
2. (P CHAdR D
3.(FITD 4R E
4. (FITA LR D

Options :

5362287097. 1
5362287098. 2
5362287099. 3
5362287100. 4

Question Number : 126 Question Id : 5362281822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR ATGIAT BN (TGS L& TGRS (F 57 SHTIRS, 57 =

1. AMGFF: HHIT
2. A oS
3.491G 919

4, AL CBIYEt

Options :
5362287101. 1
5362287102. 2



5362287103. 3
5362287104. 4

Question Number : 126 Question Id : 5362281822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HTYF ATHIAr BHAICH (QTETGISIE T SMUGTATAS (515 STHRe, (o 2.

1. AGP R ST
2. A onfe®

3. G A1

4. Ri= gt

Options :

5362287101. 1
5362287102. 2
5362287103. 3
5362287104. 4

Question Number : 127 Question Id : 5362281823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ZI2STN *ME T3R8 STMe SIS (Rl sHaMfog T (3 25 ot
(4TI 2575 S0 Ol I6Eo] Ze:

1. 99PN
2. O™
3. 3429
4. *Ifg=m

Options :

5362287105. 1

5362287106. 2

5362287107. 3

5362287108. 4



Question Number : 127 Question Id : 5362281823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

22TV AT M RO 8 TS NG (=efaiG sXMfea W (3 «mitrs g
(4TI 2[5 W OIF I6100] 20ew:

1. GIBAM
2. OFAH
3, ST
4, *E=A

Options :

5362287105. 1
5362287106. 2
5362287107. 3
5362287108. 4

Question Number : 128 Question Id : 5362281824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ITE TIATH-TLAr A% (ATF FLAPID I1P) OHYS 24T:

A TN GIRIG TSI 057 (T & |

B.Rteed M Pmmes I9d poml

C TGt GG SIS (IR 909 (N2 |

D. T FFICAE BIFOIH GIF IF Jh2 TNl (BifFe Irar w341

ESIEITE (T (ST &A1 (5|

TIHN-TLar 0% AR (T ZF0N ATA0E, NIhd M iH00 Ol 3% [9egis 20

1.E.B,ACD
2.ADCEB
3. B.AE €D
4 C A B DE

Options :



5362287109. 1
5362287110. 2
5362287111.3
5362287112. 4

Question Number : 128 Question Id : 5362281824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TIAH-TLal A% (AT FLAFO 5] GHYS =4:
ARG GG ST=0d A0 (ST |

B.fAtSte1a M PMned I3 TRl

C Gt GG G (FIE I90d (T 24|

D. T FFIAE BIFOALHS GIF I9 93 WOl (BIieS T4 F341

ESI{AIE (90 (57 20 (51T |

TUHH-TLA1 03 ARSI (T 0N A0, NIthd S3ie00 Od 3% [I3gis 20

1.EB ACD
2ADCEB
3.BAECD
4. C A B D E

Options :

5362287109. 1
5362287110. 2
5362287111.3
5362287112. 4

Question Number : 129 Question Id : 5362281825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



'(OIGIE BRI W G SR PIIAPIE WG -A®7 TSI A6 (REH =4
A. fORIT SE SIS NGR4T (FI SBONE STNI T4
B. (BIGIE ST 3! TSP AW (MUY [ASGRE WHT SO
C. OIS T CCHAT SHIT T 4T FIGCD TF Yo A5 Yeq(p
D. SFATHG T (PAF G A8 (GIOTIELE WIIT (TP O BBl AR
E. W{TGIM WoTY [9&= ®<5arg ~IY =7 ST&!
S AP0 (T [RPFG00 B0 TBAT &%, (16 26

1. (eI E 445 C
2. (FITB A9 D
3.(FIT A 449 B
4 (FITD AR E

Options :

5362287113. 1
5362287114. 2
5362287115.3
5362287116. 4

Question Number : 129 Question Id : 5362281825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



'(OIGIE BRI W G SR PIIAPIE WG -A®7 TSI A6 (REH =4
A. fORIT SE SIS NGR4T (FI SBONE STNI T4
B. (BIGIE ST 3! TSP AW (MUY [ASGRE WHT SO
C. OIS T CCHAT SHIT T 4T FIGCD TF Yo A5 Yeq(p
D. SFATHG T (PAF G A8 (GIOTIELE WIIT (TP O BBl AR
E. W{TGIM WoTY [9&= ®<5arg ~IY =7 ST&!

S AP0 (T [RPFG00 B0 TBAT &%, (16 26

1. (eI E 445 C
2. (FITB A9 D
3.(FIT A 449 B
4 (FITD AR E

Options :

5362287113. 1
5362287114. 2
5362287115.3
5362287116. 4

Question Number : 130 Question Id : 5362281826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IR, (10 =60

1. Gedm®

2. [

3, S5 ame
4. iiEpm

Options :
5362287117. 1
5362287118. 2



5362287119. 3
5362287120. 4

Question Number : 130 Question Id : 5362281826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1) 7] s SRS L B 5 | ) [ o 5 | s o o M RSN S S L R R T |
IR, (G =T

1. Gedam®

2. [

3. AREAMD

4, MEFTMD
Options :
5362287117. 1
5362287118. 2

5362287119. 3
5362287120. 4

Question Number : 131 Question Id : 5362281827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GIEI TS G (T3 GIod (T T2, STHIS (O (€68 (oN SAR[TIg |
TSR 7 RFEArT (7 2ETE WINH Y A5 TG s, (it =0

1. ity w=igTg
2. ity wfd=erg
3. 7% 8 538

4, CT=0HT g

Options :
5362287121. 1
5362287122.2



5362287123.3
5362287124. 4

Question Number : 131 Question Id : 5362281827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GIEd TNSG (T3 GIod (T TG, STHIS (O @68 (N AR |
STl g TR (7 S[E0E W Em Y g% SUG e, (6 26

1. ity w=ig<wTg
PR T e AVIEEE
3. 918 & JiE

4. CTEg ST

Options :

5362287121. 1
5362287122.2
5362287123. 3
5362287124. 4

Question Number : 132 Question Id : 5362281828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



O3 BRTOG WGTF PLI AIE PLAPIb BFH-W&F TE<) (8 2%
A. THG *OId TN IR ST |

B. W&~ eTeId W@ *1 09 (J11Y ST e |

C. =Y SN Toblarer RO *TNeNad 3P M|

D. TAGGE *TNF FIFM0 (A |

E. SNHAYN *rqenad "IN Meafeta= S|

HE H(H0O (T PHIOME TIP0 NEAT &%, (716 =e:

1. (Pdel A, B 443 C
2. (g B, C AL D
3.(PA C, D A4 E
4, (P91 D, E A48 A
Options :
5362287125. 1
5362287126. 2

5362287127.3
5362287128. 4

Question Number : 132 Question Id : 5362281828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CIAOH FRATOG SFTF PLI G PLAPI0 Wa-S®% TE (ST 20
A. THG *OId TN IR ST |

B. W&~ eTeId W@ *1 09 (J11Y ST e |

C. [y AR Afobarer RUOTE *Nenad F1F M|

D. TGS *NNF TP (i~ |

E. SNHAYN *rqenad "IN Meafeta= S|

HE H(H0O (T PHIOME TIP0 TR &%, (5716 =e:

1. (Pdel A, B 443 C
2. (g B, C AL D
3.(PA C, D A4 E
4, (P91 D, E A48 A
Options :
5362287125. 1
5362287126. 2

5362287127.3
5362287128. 4

Question Number : 133 Question Id : 5362281829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

~ItE (7 #=i5 [ ©8 *wd T8 b 247

1. 5012
2. TR
3. FSToFTmI
4. S{rGI

Options :

5362287129. 1
5362287130. 2
5362287131.3



5362287132. 4

Question Number : 133 Question Id : 5362281829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TG (T *1=A0G [QUAl* ©8< #1319 RES G 2
1. PT1%

Options :

5362287129. 1
5362287130. 2
5362287131. 3
5362287132. 4

Question Number : 134 Question Id : 5362281830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HOAS G ST WA o Tl FTF FLHR0 NS 10 (ST ==
A. ORI PP BIR0O =2 RBFCRH, 2FT AR 42 PN 391 W SRl
ooz |

B. X WHGH O] 9ibLd 493 (STE(G (MUIE1E G2 WA= [[4T0Td STk 253 SR
C. 4 Bl SEATPE B! TIRMAT TOTE DHC ATLHC NI DI (0N (PN
B

D. T (GF WY G5RIH OEE S w012 B0 SR |

oS FPLS GAN A2 TS Sd 05 Fiud &F (a6 2.

A D, CB
.B,ADC
.D, B, C A
.C, B AD

B

Options :

5362287133. 1
5362287134.2
5362287135.3
5362287136. 4

Question Number : 134 Question Id : 5362281830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HOAS G ST WA o Tl FTF FLHR0 NS 10 (ST ==
A. ORI PP BIR0O =2 RBFCRH, 2FT AR 42 PN 391 W SRl
ooz |

B. X WHGH O] 9ibLd 493 (STE(G (MUIE1E G2 WA= [[4T0Td STk 253 SR
C. 4 Bl SEATPE B! TIRMAT TOTE DHC ATLHC NI DI (0N (PN
B

D. T (GF WY G5RIH OEE S w012 B0 SR |

oS FPLS GAN A2 TS Sd 05 Fiud &F (a6 2.

A D, CB
.B,ADC
.D, B, C A
.C, B AD

B

Options :

5362287133. 1
5362287134.2
5362287135.3
5362287136. 4

Question Number : 135 Question Id : 5362281831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W baraed AR FIE N o (A sfdahd Ima T b
DI GINE MUT (741 (T IS /97 (S0 819

A. TR

B. 4T~ WGIA

C. Fof- 212 Q0T graa

D. PPd
AMEd H: (@ (AP OItnd Wiidwad (5F wrag wg Gt =

1.4 B, B, €
286 B, A
3.5 DA B
4B, ADC

Options :

5362287137. 1
5362287138.2
5362287139. 3
5362287140. 4

Question Number : 135 Question Id : 5362281831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W baraed AR FIE N o (A sfdahd Ima T b
DI GINE MUT (741 (T IS /97 (S0 819

A. TR

B. 4T~ WGIA

C. Fof- 212 Q0T graa

D. PPd
AMEd H: (@ (AP OItnd Wiidwad (5F wrag wg Gt =

1.4 B, B, €
286 B, A
3.CD,AB
4B, ADC

Options :

5362287137. 1
5362287138.2
5362287139. 3
5362287140. 4

Question Number : 136 Question Id : 5362281832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAFANLF HEO) ST (I-2G0F [Freifod o1 amg, WE Mg’ 2Rib W e
TVYO AT

1. Ot

2. T @ 2@y

3, MEOE

IRELVIIED)
Options :
5362287141. 1



5362287142.2
5362287143. 3
5362287144. 4

Question Number : 136 Question Id : 5362281832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FIEILT ARy TG (I-2F0F FAT=o7 ©J W7, W= O ARG W 0
SRy 2,

1. CTtaTy
.W@Wﬁi‘_ﬂf
M HETUIS 4
EREIED)

Options :

5362287141. 1
5362287142. 2
5362287143.3
5362287144. 4

Bow

Question Number : 137 Question Id : 5362281833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



N ST SIS0 AN I3 ory Oifeier [Fg WesHad Ay Gy a1 240
RIGER LlIGEaE]

FN R R R R T 1 B o A B o B Y <

B. T¥H PN I0 [Groe] *MTIRE™. i, TT~{F0 T

C. Wi GGl 2%, (IHe% il o
D. TGP PAALAIGI FHe v BRGNS
SIIAA TAF
E. T191fq= (Y Prvaia o=l .
TGP FE WIS FigE ©1ez ) | Ve A

S0y OiEHd Y TGS {4 S0 20s A0S0 (2P baldd [Sgis 200

1L.A-iB-v;C-iv, D-ii E-iii
2 A-v,B-i,C-iv, D-iii, E-i
3.A-v,B-1,C-v, D-ii, E-iii
4 A-i0i,B-ii,C-v, D-iv, E-1i

Options :

5362287145. 1
5362287146. 2
5362287147.3
5362287148. 4

Question Number : 137 Question Id : 5362281833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



N ST SIS0 AN I3 ory Oifeier [Fg WesHad Ay Gy a1 240
RIGER LlIGEaE]

FN R R R R T 1 B o A B o B Y <

B. T¥H PN I0 [Groe] *MTIRE™. i, TT~{F0 T

C. Wi GGl 2%, (IHe% il o
D. TGP PAALAIGI FHe v BRGNS
SIIAA TAF
E. T191fq= (Y Prvaia o=l s
TGP FE WIS FigE ©1ez ) | K -

S0y OEHd Y TGS {47 S0 20s A0S0 (2P baldd [Sgis 200

1L.A-iB-v;C-iv, D-ii E-iii
2 A-v,B-i,C-iv, D-iii, E-i
3.A-v,B-1,C-v, D-ii, E-iii
4 A-i0i,B-ii,C-v, D-iv, E-i

Options :

5362287145. 1
5362287146. 2
5362287147.3
5362287148. 4

Question Number : 138 Question Id : 5362281834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



PG PIATT W@ o dworalerg e (1 Rz 5 e «mes gy,
WG ==

SEIGE]|
. (TNE

e
e

Options :

5362287149. 1
5362287150. 2
5362287151. 3
5362287152. 4

oW

Question Number : 138 Question Id : 5362281834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¥ PATT W@ o iorslerg ey (316 Reai- S8 e omes 9ng,
G ==

1. A gie1dl
2. (PR
3. %4
4, A9
Options :
5362287149. 1
5362287150. 2
5362287151. 3
5362287152. 4

Question Number : 139 Question Id : 5362281835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(L gd I Frod =i Ee3 Mrs 507 veaig 412 (3 = e, (36 =40

e
FoHe
TS
R CIER]

Options :
5362287153. 1
5362287154.2

5362287155.3
5362287156. 4

B S

Question Number : 139 Question Id : 5362281835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(FILE T o =ifE6% Mo 510 venaig 912 (3 = oaeE, ¢ =

dl %E c
FoRe
ST
STorEat
Options :
5362287153. 1
5362287154. 2

5362287155.3
5362287156. 4

B B

Question Number : 140 Question Id : 5362281836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AIE BRI AT WIAHA PLAPID S-S &F NI4T (8T 24,

A ZOR YT (UL, SE0 Hare T GEl =00 f— Ja0ed Gle

B.HCST SRS 16 T (5108 1% (11 BT T2 A HG-— A4ALIS Of e
C.OIE SIS SN Gl OE O AAMGro— IR (@™

D Alf= fr (o7 2 =@ SI0TE R WHI 12— S9tAtad Gler

E. SIS MG (I SIS (370 WF (J00 Ad— Bitag Sisarsy

o7a 0o (F [eaihre 79 F36 183 &5 136 =4

1. (F9TA BIARRE
2.($4<1B, D 42 E
3.(F9-TA BARD
4 (P4eT A CER D

Options :

5362287157. 1
5362287158. 2
5362287159. 3
5362287160. 4

Question Number : 140 Question Id : 5362281836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AIE BRI AT WIAHA PLAPID S-S &F NI4T (8T 24,

A ZOR YT (UL, SE0 Hare T GEl =00 f— Ja0ed Gle

B.HCST SRS 16 T (5108 1% (11 BT T2 A HG-— A4ALIS Of e
C.OIE SIS SN Gl OE O AAMGro— IR (@™

D Alf= fr (o7 2 =@ SI0TE R WHI 12— S9tAtad Gler

E. SIS MG (I SIS (370 WF (J00 Ad— Bitag Sisarsy

e 0o (F [eaihre 79 F36 183 & 136 =4

1. (F9TA BIARRE
2.($4<1B, D 42 E
3.(F9-TA BARD
4 (P4eT A CER D

Options :

5362287157. 1
5362287158. 2
5362287159. 3
5362287160. 4

Sub-Section Number : 2
Sub-Section Id : 53622871
Question Shuffling Allowed : Yes

Question Id : 5362281837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

e AT T ST T | AT AN 92 SIS WIAF R ©ad FAro T |

SEEd AN 99 27 Feid @ [Riasmmg 29 afered ai6 Meara) sita «ifdam i aef
FIE, 92 [FT IR PN SIS WA FAI 493 ANEHE o7 79T won JesErs
AATAFAN WA AZTFIG | [[AEAFAG ATOTI2 ITMARA e FAFOF (PRs STFES FAro|
W AT N FGIKEoA (HF FE8 0O WA (@r==g (s [ew| o0 95




A (Mo 7e 29 (AGT0, @YN CTEG TOl @HAIGH NTd N IS RN AFo 8
T SN SPAST Tsfiesm o 5@ ImiuEs Aled Wz 456 WG AfSsag Sy 1@
BT, #ig eTg @11 a1 J7 o =19 [REeEmg o1 THHEre eas on-es 4=
fAEfs B 493 (ATETHC TG S WN© MR- | g ~f{31nag Hes fFs
G Grdfgs B pifery 8 w47 BEo-soadiy sikEfog i =y neg =ife &y g% &
(ROT-E-23F0T | fTmIIGAl SToefe-Saf5-r "IN JF6 FRIAE o1 S| =g «rat
ST AFGH ATE] NReAF FPICR ZLAG PUNREN A9 AP AT LN PURE AU 26
TS TR | PRI NICMATAT RNy e A{Agg NRaae =g (e |

NHEAY T4 OB (DT Y O 7 435 AN & S o TOCE 2oz ©fF [{eery
AT Fﬁﬂ 36 98 GW@%%W o 209 <€) w=m=7 20 (=4 AT ﬁ@f Pickwick Papers,
PeAIEA-99 Sartor Resartes 492 Hero and Hero -Worship, TP RS [ Representative Man & Wﬂﬁ
e [A¥we G| i1 T9d 8¢ A9 WG RNy (Wa ©ftig A1HaEe a5 e Sienm
(HIHd ﬁ‘_ﬁm wig f=rg fﬁ” BUGd Annals and Antiquities of Rajasthan-4d S~ ¥ Y4E ﬁ@ﬂ

NEAA WAEEE (O e 2167 @ Seterd WReg ©fd @smy sfeer| 2 @g 933 (o= w8
YXARISIT AP SR To7 IFEE ~MORES OiRd W4T e (6], 16, (=5,
MANRISTF, 775, (e, RN 435 (B GEIS-A History of Philosophy <R3 NG
Metaphysicsﬁrﬁm@@_ﬁﬁﬁ[l

TSN FH0ad W5 AFog U5 493 WIT AT TNITT MoK, FAFET 8 Srnen [9w
Iea el g Fg =R =7 e 2 907G o= GFfm e o@E-93 W A0S 9F W)
Th AT -9 Wiy 99 oG o7 uRkeeie ofs qp 2eigE srazeey REsmema (1"
WA 493 Sra0od G0 ST WIeifS U001 CRANEd ASNdE NG GUof%e | N fF9% Waww 8
fesrea ©id Tfegie (Ol FARA| ©E 11 [Fgd Gl o Bew oo Fformd a5 [eE oy
YU AN Hald ARSI 210 AFA |

Sub questions

Question Number : 141 Question Id : 5362281838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TVY® SIS SBTAL ITole- O e SIRATE To-1 P RE:

(A=Y Ated el
52 Wied “ral

. (M= WU “ral

Options :

5362287161. 1
5362287162. 2
5362287163.3
5362287164. 4

R PV

Question Number : 142 Question Id : 5362281839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

\CRYS SIS (FTP NICE AN OIfeTPrE PLAPI0 ATEI AN & oy Ol Frieo
(UG T (RO =:

LIGEOR! MIGEIR

. 1255 W frerofs i, 36

B. T2 a0TG wI= fAfetfGrT=r i, TS

C. (NI iii. GUIRSTH
D. RIS Gios W= iv. fe

Gold STHE&ST (T4 P 208 (P00 9P beldd [KPHIb 2o

T.A-iIi,B-iv,C-i, D-ii
2 A-ii,B-iv, C-ii, D-i
3.A-LB-ii, C-iii, D-iv
4 A-ii,B-iii,C-i, D-iv

Options :

5362287165. 1

5362287166. 2



5362287167. 3
5362287168. 4

Question Number : 143 Question Id : 5362281840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST WALHRN STHIE PLAPIb ®F-A&F TS (8T 2

A, 129 (oG 96-4939 % 1% e IGIatas- (39|

B. LA foroTz T5flefs SsTd onsl Sraria|

C. HedINGd NRARN RPN AT RSy &= (o=
D. (RETH-3-T(1 0 [AIIFMIRI Wio (247 % g

E. 511 (g Rasoe 78t [{AEaemeg /m=d Vo< &l
S (P00 (7 RSO0 AISI6 1@ &% (FD =

(P A CERRD
.(P91B, D E4RE
(PETABARD
. (P9IB, C F43 E

P L P =

Options :

5362287169. 1
5362287170. 2
5362287171. 3
5362287172. 4

Question Number : 144 Question Id : 5362281841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



GHYS Al M6 (9319 (ST 2, 914 (0 T84T 8 Wi OId ACATE Jfer:
AT AlAzoely & BRod JrET Iferg [Rgsmong s &)
e FEG fof B0 @ RO o |

GAIA A6 [[RYM0F ARAFFTS [ T (0o 5 Gedlb 24

1. T\ & Ife Soiz 5
2. SANG 3% @ T&ib o
3. WG oo 58 L& 5
4. UBA] & Yo BoAZ Ge

Options :

5362287173. 1
5362287174.2
5362287175. 3
5362287176. 4

Question Number : 145 Question Id : 5362281842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THYS W (TP BPITPG N9 AN B34 F =2

A. CTTA=ISTIE

B. {3l

C. FT0

D. T

E. G051

AHR H PO (AT SHYS W0 BLATHT TS (9 ([TFFI6 24

1.AECBD
2C EADB
3.C,AEDB
4.C,EBAD

Options :



5362287177. 1
5362287178.2
5362287179. 3
5362287180. 4

Question Id : 5362281837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

e 9T T RS T | AFTS! IS 92 SIS WIAF R ©ad $aro IT|

SEEd AN 99 27 Feid @9 [Riasmrwg 29t aferss ai6 mewra| st «ifdam i aef
FINE, 2 [FT IR AN SIS WA FAG 493 ANEHF o7 7T wgn JesArs
AATAFAN WA AZTFIG | [[AEAFAE AOTNE ATNMAEA e FAFOE (PRs STFES FAro|
W A FIE W AGREAEN (U9 FES N0 WG2d (@S-G (S Bew| w0 95
A (N 7o 29 (AGF0, @R CIE6 W9l WHAIGH 2PNed T IS R AFo 8
FENT OEY ATST 7o ofg 597 IeaEs Ated Wo1E JF0 SGH ATSHI=E A% I
eI, =ITg ST 1191 Siaw| A9 =1 e [asmng (501 GHhHEre [RwINis ORmies S4W
B =B 93z (TSI 10 S FNfe Mrafee | [ &g Hes Ak
UG oG F- ey & =47 R-2GwEay Ssgog i =y wes wfo £ g &=
(RETH-3-2I0y | e IIGHAl SToTeie-oai5r NIty JF6 FIAITE Io-1 FaRia-| (=g orat
SIS AT AE] NREATH BILR ZLA0 IR @< eI Aam-1Y WAL PIRE ALY 26
1S TR | eI S9T=IEs Rapaarg we Sffdangg SEame 9 A |

TEHAY TYN F9S (AT g 04 75 13 26 8 Wg_F 0 2EEnd 2oz ofg [{ew
AT %I BGIERUER GW@@T&W wiq 2 o9 w=m= f20" =4 YT f@f Pickwick Papers,
PeAI2A-a9 Sartor Resartes d9¢ Hero and Hero -Worship, AR Representative Man & TETo-4q
[ [ETe BN B 99 @9 93 WHIPd RNy (g ©ftng AiHaiEe 9 e | Sinm
(HIeE4d ﬁ‘_lﬂ'ﬁ‘_“l oig forg fﬁf! BUGE Annals and Antiquities of Rajasthan-gd S~ ™ Y4E %H

AT WHAB6IE fofs fZe o6T @ Sororg eIty ofg @y onfGer| 20 93: ToW 7T @
axfTRreT et Sitng 9pw 9EeE onefRew Oithd WU WIEN (SfGL e, (R0




ORISR, &%, N, RGN 49 (=Ed| GIEgels- <& History of Philosophy 445 %] PGIECE
Metaphysics O ARTOIPE AEHS (2|

TGN FYET AW APfog WU q95 NG AF FNT Wold, FrHdET 8 Gramsy a0y
Iea el oig Fg =R =3 w8 907G o= GEfGmy s o@E-93 W A0S WS W)
Th T -9 Wiy 99 oG o7 aRkeeie fofs qp 2efge srazeety REsmema (17
W 432 S0 &0 IO s TI001 (PRIEE 2SIas 96 SR | w1 {399 9T 8
fPEreEn 9iF e IS (ol FLARA| Od 74 [Fgg God fof G- oern 2ferg 9% [ «y
YU AN Hald AHNTS IF 2T AFA |

Sub questions

Question Number : 141 Question Id : 5362281838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TRy ST SISTAL SoTTe &-Oa At SIAIAE TowT SARE:

1. [y weg orat

2. T5fierm ted et

3. (N e el

4, AGHACEATSH CICHT a1

Options :

5362287161. 1
5362287162. 2
5362287163. 3
5362287164. 4

Question Number : 142 Question Id : 5362281839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CHYS ST (TP NITE AYY OIAP PLAPIG AR TN & (GO Oleery Fraeo-
(FTY(HF AN (RS =4

LIGEOR! NIGEIE

. 12155 o fraoie APGEE

B. T8 901G == fFfefGT i, TS

C. (NI iii. GLIRSTHS
D. HATGUGoe W iv, Fe

GolId &N T4 P 28 NP0 9P veldd [KFHIb =6

1T.A-iii,B-iv,C-i, D-ii
2.A-iii,B-iv,C-ii, D-i
3.A-0,B-ii, C-iii, D-iv
4 A-ii,B-iii,C-i, D-iv

Options :

5362287165. 1

5362287166. 2

5362287167. 3
5362287168. 4

Question Number : 143 Question Id : 5362281840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST WLHRR WIS SLEPI0 WF- W& T@dy (aT 26

A. 1279 (AT 0-99 o T [ReT IrGIQCes (||

B. WA [F1@raz sl 2{s SSd Oy Srafgie=|

C. TadIGa MRl NI ST Rraery o fAre=|
D. (ROT-2- 2P0 [[FIPMIHIE W (57 3% 2|

E. fsifa=r cam=g et F1il fAraemiwig *miwd Ao Bl
2 A0 (7 [PHO0 AIP0 NS &G (716 24

1. (PFTA CEd5 D
2.(PF9e1B, D &4 E
3.(PITA BAAR D
4 (P91 B, C L4 E

Options :

5362287169. 1
5362287170. 2
5362287171. 3
5362287172. 4

Question Number : 144 Question Id : 5362281841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GHY® It6 ¥iG 310 (89 =4, 9 4516 I8 & WG ©Id AT I
TEQT: AR ooty 8 ORtod g Ffotm [Esmimg arefs el
Ther: SIE ol 6 & REY ATt |

ToIAA 16 [[RY10F ARARFS FHE S0 55 Godlb 20

1. Y87 8 I Toik [
2. TSI 3% g L&t oo
3. B0 g (58 LS 7
4. Y85 8 e GoIE el

Options :



5362287173. 1
5362287174.2
5362287175. 3
5362287176. 4

Question Number : 145 Question Id : 5362281842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CHYS W2 (ATP PLIPOH U919 A1 SreTy T 24
A. CTCH=ISTE

B. f3

C. TG

D. ¥

E. (=051
IHH H(PW (ATP GYO W BLETYT LS D [APgIG 2

1.AECBD
2C EADB
3.C,AEDB
4.CEBAD

Options :

5362287177. 1
5362287178.2
5362287179. 3
5362287180. 4

Sub-Section Number : 3
Sub-Section Id : 53622872
Question Shuffling Allowed : Yes

Question Id : 5362281843 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (146 to 150)



Question Label : Comprehension

e 4F s CRET T | AFTS! e 4% SIS WIFFH B8 g FATe T |

QA G- A AFE GoMTe M T =T 993 (@R | VHTT AAT AP0 2(IR &5 *atHd (STl
B (Y| IR WGTN™E (59054), TG (5923), WGP (v90ay), i E (5900)- 49 TEmafoy
FHIT -7 WIAOR| AHIT-A7 22T 8 GO F40d (7 9oy 8 5o¥ FeFaT 94fd Ao =afa
O g AN Wl 6T Grela: ATGHIG AMIBA VT G (PLeARed | AN 4l (APE
TS Lo [RE9-[E6lE, (@S0i0 433 WIRIE Waie [eesizd AfEaegam T08E =g
HAIET MU | AT 34T (APE T2 (T4 WHERE0 QA 29| 480 ST QR ez 419
(ST | [T G943 ST 41 (AT (FAIG P @4 =S AT O S0 B (NS JoT 1@ (HE |
faor 9 (s 9F UM A FFm ao =@ AF| O/F WIsT A GFE FIarens &Y S| FI5P:
SIS Grew | AYN HLYT SIS AP 2018 o ST (A1F (@741 8 B[e - 73 959
=W AMF| FTOF AHEE Gr0s TS WRIF O AH-FIEANS 37l SPie =81 7§ WEEs so
NG ST 437 T4 (A (R4 THR AT GFIHF N9 12 =, AN Yo7 © BT | RE WEY
Ff o FeunfG (MUR  *MIRET T4l A9 OIF Toll BY 0PI AU (WF2 TS FIMGI0d
MR 6 (GFRE, 2200 (@A TGO ALl ABE A1 O Tl (3-
(PUAFPY o H-STNAGAIF SN [T @0y (IR q1 0] STACTad PI50G ANGTT TS
M| FHEY 8 WONGHS PN TOl0 (TP AN YO A FHEY GOl A SPIH-Grer
AN | NGTGIE T PG TP | A8 HETD FI0I5% (FINS WEAMSNG ([R1 T, (PIedr
JBTHE = (IO (] | N0 G2 WAFAE AF 2009 T34 (A NGIGHg bl O
AFFE AYTOA TR = f T A0 IW OF THEY | N T OF S iR
GIGSS -3 “ad M| A% AP (@4-OlPR [ Afetnd Ny =14 B oithd T
£ o ) L | 1 O O = ST o 51 R [ 0 A 1 o A =11 T M) 1 ) 3 M T B o S S
AT 3154, TAGE T OB Y SIEUrasy| (T Soe g Soer FrefEe-, Rrase @
E 3115 o e I O ) S s (A e 1 s B R 1) R s TR = = o B 1 0 o e e A )
T X7 966 (THSNE I 8 (ANETFT WOAF2 (@4 HIF I 47 T =91 9 W=
I AR SFITFN G2 BINGIGI G 2P-2E AOI5F] AP0 |

Sub questions




Question Number : 146 Question Id : 5362281844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1. =S

2. g egzs
3. (@i

4. H=FH

Options :

5362287181. 1
5362287182.2
5362287183. 3
5362287184. 4

Question Number : 147 Question Id : 5362281845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

- iore AfGFE AfSSTead a7 & A¥S Te7) (TifFs =8 Giiog T S =3

1. o 9
2. fasty o
3, Doy 9%
4, oo 9%

Options :

5362287185. 1
5362287186. 2
5362287187. 3
5362287188. 4

Question Number : 148 Question Id : 5362281846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



God GUY® STITSTE 0 NIt BLAPIG S-S &g T8d] (ReH 26

A, WIHET- A9 FHRAE SUH (AHSNE I & (NG WO (BIA]-A- (I
TN T (Rl — O WA+ Fdl TF|

B. AfZIMHF AT T WIS M (AP AP W3t 2 T

C. ANITOFNE GLEIATHITHE W09l WE 99+ 40w O3 MFbowendz 960 917 ©Rog
[A9CIS NIHTF -4 WA 29|

D. WITNE A NIHE A G (B IFENIE RTHEIad FI97G | &Y TGOS ~F,
[RTIGIE BIGT WIHT (P11 WO~ *E I (BT TR CTY AP0 =79 = |

E. WIBRS (S ATGHI (38 Ao (AR

AWE TP (I-[[Agore 9SG Ted) &7, (G =

1. (eI A, B 448 C
2. (P91 B, CE95 D
3.039E C, D F4d8 E
4 (P E A S4B

Options :

5362287189. 1
5362287190. 2
5362287191. 3
5362287192. 4

Question Number : 149 Question Id : 5362281847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0
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